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Remedies
Final Exam

1. Essay question: one hour; one fact pattern with multiple questions; 40% of grade

2. MC: two hours; 50 questions; 60% of grade  

I.  Introduction
A.  Courts of chancery are separate courts of equity: sometimes found on the east coast - Ex. Delaware

B.  Four types of remedies:

1.  Coercive remedies: remedies that look to the future for relief 
a.  Court issues order to comply and if don’t comply, then in contempt or fined

b.  Were traditionally only issued by courts of equity

c.  Can be issued before case is decided on merits to preserve the “status quo”

d.  Operate against individual: two main types are injunctions and specific performance  

e.  Injunctions are divided into four classes: 

i.  Preventive

a.  Injunction against the harm being committed again 

b.  Ex. Do not let your cattle cross onto P’s land 

ii. Restorative

a.  Order for D to fix the harm: Ex. Fix P’s car

b.  Hard to get because courts prefer to just have D pay money to P for P to fix the harm

iii. Prophylactic

a.  Similar to preventive: order to protect against the harm

b.  Ex. Build a fence to keep your cattle off P’s land or stay 100 feet away from P

iv.  Structural

a.  Direct entire structure/institution

b.  Ex. Special classes for special education students

c.  Most often arise in civil rights litigation

d.  Involve whole series of different types of injunctions
2.  Damages: operates against the property and not against the person

a.  Goal is to compensate P for loss incurred: issued by courts of law

b.  Two major types of damages: 

i.  Compensatory: focuses on D’s loss 

ii. Exemplary (punitive): focuses on P’s behavior 
3.  Restitution: order to give something back

a.  Ex. Unjust enrichment

b.  Can get from court of law or equity: focus is on D’s gain
4.  Declaratory relief: relief is declaration by court on specific legal issue

a.  Courts only grant if issue is ripe for adjudication and is real controversy

b.  Ex. Insurance companies get declaratory judgment about obligation to defend insured c.  Courts don’t give advisory opinion
C.  Consequences of seeking equitable remedies:

1.  Do not have right to jury trial

2.  Specific set of equitable defenses

II.  Scope of Legal and Equitable Remedies

A.  Limitations on Remedies
1.  Suppose legislature passes law that job evaluations must be fair

a.  If shown to be unfair, then statute provides for two remedies:

i.  Employee can look in employment file

ii. If file is unfair, can insert a letter to explain

b.  If goal of statute is to provide for fair evaluations, court might also want to give damages and have evaluation expunged from the record to further the goal  



2.  In CA, a list of statutory remedies is not exclusive: Orloff  



a. Facts
i.  P was ejected from racetrack for no reason 

ii. Statute said that patrons couldn’t be excluded for no reason and provided for actual damages and an additional $100
iii. P wanted injunction against being ejected again.

b. Often courts cannot add additional remedies: remedies in statutes are usually exclusive 
c. Actual damages often does not cover emotional or reputational damages: P would not likely get anything from actual damages so only remedy is $100  

d.  CA Supreme Court says that CA follows the promotion of justice: to liberally construe statutes to carry out the legislature’s goals
i.  List of remedies is not exclusive

ii. Courts can add others to carry out the goals: this is the minority rule
3.  Sometimes legislatures and courts eliminate remedies

a.  Legislatures have reduced or eliminated common law remedies

b. In CA, legislature established dollar limit on non-pecuniary losses such as pain and suffering
4.  Another issue is eliminating common law causes of action

a.  In Illinois, legislature eliminated “heart balm” causes of action, such as breach of promise to marry

b.  Illinois Supreme Court found the elimination to violate the state constitution so these causes of action still exist there

c.  Legislature responded by limiting damages to actual damages: eliminated damages for pain and suffering which had basic effect of eliminating the cause of action


5.  Make have valid cause of action to get a remedy: Cowin Equipment 
a.  Facts  

i.  P sued D on grounds of their contract being unconscionable: contract prevented P from canceling any of their orders

ii. Their previous contracts did allow cancellation if couldn’t sell their equipment
iii. P wanted to get actual damages under UCC section about unconscionability 
b.  Court held that the UCC section does not create a cause of action for damages  

i.  Unconscionability is not a cause of action that entitles P to a remedy

ii. Acts as an equitable defense to a cause of action, usually specific performance
c.  If P didn’t pay D for the equipment, then D would sue for breach of contract

i.  P could then raise the defense of unconscionability

ii. Court could then refuse to enforce the contract if it was unconscionable


6.  Causes of action may be limited at times: Treister 



a.  Facts
i.  P was orthopaedic surgeon who wanted to become a member of the academy
ii. After reviewing his application, he was denied admission

iii. Refused to tell him why or allow him to appeal their decision

iv.  P wanted fair proceedings to appeal the decision: remedy of due process
b.  Needs to establish that has a cause of action before can receive the remedy
c.  Court needs to balance the right of P to be treated fairly with the right of the private organizations to determine their own membership rules

i. Held that they can only review application procedures of a private association when membership in the organization is an economic necessity

ii. P could carry on his living without membership so no necessity was present  iii. Because there was no economic necessity, there was no cause of action and the court could not interfere
d.  Because the remedy was so extensive, it would be a huge burden on the courts if everyone was allowed to sue associations for due process  



7.  Judicial immunity does not prevent an injunction from being sought against judge: Pulliam
a.  D wanted an injunction against a judge who had a practice of incarcerating persons waiting trial for nonjailable offenses who could not post bail
b.  Claimed the practice was a violation of his constitutional rights and wanted injunction.

c.  Judicial immunity prevents lawsuits from being brought against judges for damages  

d.  Supreme Court found that judicial immunity does not prevent an injunction from being obtained against a judge
B.  Consequences of Remedy Characterizations

1.  Recovery of environmental clean-up costs are restitution: Maryland Casualty 

a. Facts

i. Armco sent hazardous waste to disposal site that leaked into water

ii. Gov’t cleaned up site and sued for reimbursement.of costs and injunctive relief
iii. Armco wants liability insurance policy to cover their costs

iv. Casualty claims not liable for the costs because policy only covers damages
b.  Casualty is clearly not liable for the injunction because that is coercive relief
c. Armco claimed policy covered legal remedies: includes damages and other remedies  
i.  Some restitution remedies are legal and others are equitable

ii. Armco argued that clean up costs were like quasi-contract: is a legal remedy 
iii. Court: policy said damages and not legal remedies
d. Gov’t could have either cleaned up the spill and then recovered costs or could have condemned the property and then sued the parties for damages to the property
e. Court holds that the recovery of costs are restitution and not compensatory damages: gov’t came in and fixed problem and now wants to be reimbursed 

f.  Argument could be made that reasonable policy holder would think they have been “damaged” if have to pay money to gov’t: would be making common sense argument     


2.  Back pay is an equitable remedy: Brunecz 
a.  P sued D for wrongful termination and sought reinstatement and back pay 

b. He then amended the complaint and omitted the request for reinstatement
c. P asked for a jury trial: juries are allowed for legal remedies, but not for equitable 
d. Reinstatement is equitable remedy: coercive since ordering someone to do something
e. Lost wages are compensatory damages

f.  Court finds that back pay is different and is equitable

i.  Back pay is an integral party of reinstatement

ii. Only exists if court reinstates P back in his job

iii. Was irrelevant that P omitted reinstatement from the complaint

iv. Because is part of reinstatement, both are equitable: no right to a jury trial
g.  If one remedy is legal and other is equitable, sometimes court allows jury to decide everything or jury decides legal remedies and court decides the equitable


3.  Front pay is NOT compensatory damage: DuPont 
a. P sued for violation of her civil rights and court awarded her backpay and the maximum amount allowed under the statute in compensatory damages
b. Front pay is money from the time of judgment to the time that P goes back to work: can be attached to reinstatement, but need not be
c. P argued that front pay are not compensatory damages: if not compensatory, then no cap on front pay and she can recover more than the statutory limit
d. Supreme Court holds that front pay are not compensatory damages

i.  Looked to §1981: says that compensatory damages doesn’t include back pay  ii. Court analogizes back pay to front pay and holds that both are equitable remedies and therefore not compensatory damages
III.  Preventive Injunctions

A.  Inadequacy of remedy at law
1.  Equitable remedies are proper when no adequate remedy at law: Thurston Enterprises 
a.  Facts

i.  P owned movie theatre and D owned marina

ii. P gave D an easement to the marina and D caused damage to it 

iii. Trial court ordered D to repair the easement and limit his use of it
b. An order to repair is a coercive remedy, specifically a restorative injunction

c.  A limit on the use of the easement is a prophylactic injunction
d. Historically, courts of equity had no jurisdiction if there was adequate remedy at law
e.  Because D could have paid the costs to repair the damage, compensatory damages were adequate and P was not entitled to the restorative injunction

i.  Is usually very difficult to get a restorative injunction since compensatory damages are usually sufficient

ii. Problem with injunction is that court retains jurisdiction to supervise that work is carried out: would rather just give damages
f. The prophylactic injunction to reduce future harm did not have an adequate remedy at law so was allowed by the court


2.    Legal remedy may be inadequate where is multiplicity of lawsuits: Wheelock 



a.  Facts
i.  P gave D a license to put rocks on P’s vacant lot

ii. D abused the license by putting massive amounts of rocks on the lot and then refused to remove them when the license had expired.  
b.  Other possible remedies: damages for trespass, costs for P to remove the rocks, charge D for rental value
i.  Damages for trespass are usually only nominal damages: is not adequate
ii. Having P remove the rocks was inadequate because P had no place to put them
iii. Receiving rental value is inadequate because it would be forcing P to lease the property to the D


a.  P should not be forced into a lease that he doesn’t want

b.  Could only receive past rent and not future rent: would be speculative c.  Would need to bring lawsuits to recover the rent in the future: this called the multiplicity of lawsuits

d. A legal remedy is inadequate if P needs to keep coming back to court 

c.  Punitive damages are not considered when determining if legal remedies are adequate: no P is entitled to punitive damages
d.  Legal remedies were inadequate so court ordered D to remove the rocks
B.  Irreparable Harm

1.  Irreparable harm must exist to receive an equitable remedy: Muehlman 



a.  D were running engines of their trucks during the day and night next to P’s window
b. Trial court granted injunction preventing D from running the engine during the night
c.  Not only must the legal remedy be inadequate, but there must also be irreparable harm to receive an equitable remedy

i.  Doesn’t seem to be a difference between the two requirements so most jurisdictions only require inadequate legal remedy  

ii. CA takes the minority view: need to show both requirements
d.  Irreparable harm means “great harm” so injunction won’t be granted if harm is trivial: Ex. Neighbor throwing small party a few times a year
e.  Court held that damages are too speculative and difficult to measure

i.  Is another way that legal remedies are inadequate

ii. Would also be a multiplicity of lawsuits because P could only be awarded damages for past nuisance

iii. Relates to the use and enjoyment of land: courts have traditionally held this to make legal remedies inadequate
f.  Great harm exists because P cannot sleep and their health will be affected
C.  Balancing Interests and Practicality Considerations



1.  Court balances hardships of granting equitable remedy: Triplett 



a.  Facts
i.  P sold an island in a lake to D and retained ownership of the lake

ii. D were granted an easement for roadway purposes across a portion of the land surrounding the lake to a bridge that crossed over to the island

iii. D were unable to repair bridge so removed it and created paved causeway  

iv. P could no longer use the entire lake for recreational purposes
b.  Court held that the trial court erred in not granting a restorative injunction: usually restorative injunctions are difficult to get because damages are often sufficient
c.  Third major consideration is balancing of the equities

i.  Look at the benefit to the P versus the burden on the D

ii. Benefit needs to be greater to grant the injunction  

d.  Even if all the factors are met, court does not have to grant injunction: has discretion
e.  D had the responsibility to maintain the easement and the benefit exceeds the burden 
i.  Some of the causeway could be used and then a shorter bridge built

ii. Would be sufficient for recreational use of that portion of the lake and would be a smaller burden on D
iii. Injunction requiring removal of causeway and rebuilding of the entire bridge would have been a huge burden: then burden would have exceeded benefit


2.  Injunction can be tailored for benefits to exceed burdens: Onassis 



a.  Onassis sought injunction against photographer
b.  Court found there was no adequate remedy at law 

i.  Was a need for multiplicity of lawsuits since could only get damages for past harm: SoL determines how often a lawsuit needs to be brought

ii. Was imminent threat of continued emotional and physical trauma and  difficulty in evaluating the injuries

iii. Giving money damages would not stop the harassment: would be a recurrent invasion of her interests
c.  Balanced the equities and found the balance in favor of Onassis

i.  Prophylactic injunction preventing P from taking pictures of D would be too burdensome since it would destroy his livelihood

ii. But, prophylactic injunction keeping P at a certain distance was not too burdensome: the benefits outbalanced the burden
d.  Since P’s conduct was lawful, the injunction was to modify his conduct and not prevent his photography
e. Injunction was prophylactic because it doesn’t directly prevent the harm but reduces the opportunity to engage in harm  

f.  Preventative injunction would be too difficult to enforce: Ex. do not harass anymore
D.  Public Interest and Tribunal Integrity 



1.  May consider public interest when balancing: Rainbow Family 

a.  Rainbow Family held gatherings in the National Forests where they celebrated life and associated with other “like-minded” persons
b.  Gov’t brought suit for injunction against gathering: claimed threats to public health and safety, harmed lands and property, and would involve instances of criminal conduct such as nudity and illicit drugs
c.  For the criminal conduct there was an adequate remedy at law

i.  Could enforce the criminal statutes and issue fines

ii. Difficult to get injunction against the commission of future crimes: exception is anti-gang injunctions
d.  For harm to land and property, court found the legal remedy to be inadequate

i.  Not clear who to give citations to for leaving trash if thousands of people        ii. Granted partial injunction preventing more than 5,000 people from gathering
e.  No adequate legal remedy for the threats to public health

i.  Can’t give citation to someone for drinking from streams or passing illness          ii. Harm would not be trivial: a lot of people catching illness could be considered great harm

iii. Benefit to the public would be prevention of illness and unsanitary conditions  iv.  Burden on the Rainbow Family is that they can’t act like “dirty hippies”: it impedes on their First Amendment right to assemble

v.  Because of the 1st Am., a complete injunction would be too burdensome
f.  Court issued prophylactic injunction that gathering would be limited to 5,000 people and that sanitation measures be met


2.  Benefits to general public can be considered: Boomer 
a.  P were suffering from dirt, smoke, and vibration emanating from cement factory: brought a nuisance action and sought an injunction against the pollution
b.  Because there was not adequate technology to prevent the pollution, it would require shutting down the plant
c.  Damages could be given to the P, but they would likely be speculative

d.  Also, as the factory continued to operate, there would be a recurrent invasion of their interests leading to a multiplicity of lawsuits

e.  Fact that it affects the enjoyment of P’s land suggests that the remedy is inadequate
f.  Irreparable harm exists because it affects the health of the residents
g.  Under the old NY rule, if a nuisance was shown, then an injunction was automatically 
granted even if there was a disparity in economic consequences between the effect of the injunction and the effect of the nuisance
h.  The NY Supreme Court decided to change the rule and balance the equities
i.  Benefit to the P would be no more pollution and better health
ii. Burden to the cement factory is that there is no adequate technology to prevent the pollution so they would have to shut it down to comply with the injunction 

a.  Millions of dollars invested and hundreds of people employed there 
b.  Fact of losing jobs isn’t actually a burden on the factory, but on public
c.  This one factory won’t be able to come up with solution to pollution by itself: would require gov’t regulation of whole industry to find a solution
iii. Court leaves out the benefit to the general public of less pollution
i.  Court granted the injunction against polluting unless the factory pays past and future damages to P: unusual since normally don’t get future damages
i.  Didn’t just grant damages because it wanted to give some deference to the idea of granting an injunction 

ii. Judgment binds future landowners: covenant runs with the land so if someone buys one of the P’s houses in the future, they can’t sue for damages

iii. In essence, the court has granted the factory a permanent license to pollute: factory has no incentive to find a solution to the problem
ii. Court could’ve delayed injunction until point in future if P hadn’t found a solution

E.  Summary of requirements for injunction:
1.  Inadequate legal remedy

2.  Irreparable harm

3.  Balancing

4.  Not adverse to the public interest 

IV.  Interlocutory Injunctions

A.  Procedural classification of injunctions
1.  Interlocutory: temporary restraining orders and preliminary injunctions

a.  Granted between the time the action is filed and the judgment is given

b.  TRO is granted for a few weeks at the beginning of the lawsuit

i.  Apply for TRO at the same time file a complaint

ii. Complaint also has to be verified (swear under perjury that the statements in the complaint are true) or accompanied by a declaration

iii. Can be granted ex parte, but usually want to give the other party notice

c.  Judge can then grant a preliminary injunction after hearing from both parties: preserves the status quo until the trial is over  
2.  Permanent: is ordinary remedy granted after judgment  

a.  Where get an interlocutory injunction and then lose on the merits, then are liable to the opposing party for any damages caused by the injunction: can sue to recover the loss

b.  Party seeking injunction must post a bond to cover any potential damages to the opposing party
B.  Substantive Requirements



1.     Must show substantial likelihood of prevailing on merits: Minnesota Twins  



a.  Facts
i.  Twins and Metropolitan Sports Facilities Commission had an agreement where the Twins were to play at the Metrodome

ii. Commission alleged that the Twins sought to circumvent their obligations by selling the franchise to MLB and the league would then terminate the franchise
b.  Four traditional requirements for a interlocutory injunction:

i.  Substantial likelihood that movant will ultimately prevail on the merits

ii. Irreparable harm and inadequacy of legal remedy

iii. Balancing of the harm

iv. Showing that the injunction would not be adverse to public interest

c. No substantial likelihood of prevailing requirement with a permanent injunction because you must actually prevail on the merits
d.  Even if all the factors are met, judge still has discretion whether to grant the injunction: looking to see how to preserve the status quo
e.  Court granted temporary injunction, concluding that the commission, the state, citizens, and fans would suffer irreparable harm if the Twins failed to play
f.  Granting the temporary injunction would not impose significant administrative burdens, but would preserve the status quo by continuing a close long term relationship


2.  Need to show irreparable injury and inadequate legal remedy: Siegel
a.  Bush, Cheney, and several registered Florida voters sought to enjoin some Florida counties from conducting manual recounts of ballots
b.  Court found that P failed to show a substantial likelihood of success on the merits
c. Also, P failed to show that irreparable injury would result if no injunction was issued 


i.  P were suffering no serious harm because they had been certified as winners of 


Florida’s electoral votes 


ii. Was speculative whether the recounts would place Gore ahead


3.   Purpose of injunction is to preserve the status quo: Cassim



a.  Facts




i.  P was charged with doing unnecessary Medicare surgery




ii. Argues that as a matter of due process he is entitled to a full evidentiary 




hearing and sought an injunction against being suspended




iii. Said his reputation and livelihood will be irreparably harmed and that the 




district court mistakenly believed he threatened the lives or health of his patients



b.  Court balanced the harm P might suffer with the harm his patients might suffer





i.  P’s interests were substantial, but the government’s interests were compelling  




ii. Unnecessary surgery wastes public resources and threatens patient’s health so 




injunction was not granted



c.  Could have tailored the injunction to him just being suspended from Medicare 




surgeries, but not from performing other surgeries: would have passed the balancing test 



because it would not have been as adverse to the public interest  




d.  Purpose of preliminary injunctions is to preserve the status quo





i. Was unclear what the status quo was: often can argue how to typify it





ii. Because status quo was potentially dangerous, court was not interested in 




preserving it for public policy reasons


4.  Injunction may sometimes be granted even if not likely to prevail on merits: Baldrige 



a.  Facts




i. Gov’t had a new policy of hiring female and observers to 
accompany certain 




fishing vessels to make sure dolphins weren’t getting caught in the nets




ii. P sought an injunction against the female observers being allowed on the ships




iii. Alleged that the policy violated constitutional privacy rights, interfered with 




the fishing operations, and would destroy moral and distract the crew




iv. District court did not find that P were likely to prevail on merits, but granted 




the injunction using the alternative test



b. Alternative test: if P shows a strong showing on other requirements, then must just 



raise a “serious question” on merits and need not show a substantial likelihood of success 



i.  Always consider the alternative test when analyzing a problem





ii. Often is very helpful in medical insurance cases: Ex. Patient wants to use an 




experimental treatment as a last resort and sues for an injunction against the 




insurance company who has refused to pay for it




iii. “Serious question” means there may not be a lot of evidence to prove it, but is 




serious claim and not frivolous: should be able to withstand a demurrer 




c.  Court said that the district court did not find that the alleged harms would be 




irreparable or require a showing that the harms alleged were imminent or likely





i. Also failed to weigh the public interests in ensuring equal employment 





opportunities for women





ii. Held that the district court abused its discretion by ordering preliminary relief
C.  Procedural Requirements



1.  Must set out findings of fact and conclusions of law for preliminary injunction: Sims 



a.  Facts




i.  P was appointed bishop, but D also claimed to be the presiding bishop 




ii. District court granted TRO for ten days against D interfering with P  




iii. When the time ran out, the court granted an additional ten days




iv.  D then consented for another twenty five day TRO





v.  Court later extended the TRO for another ten days without D’s consent



b.  Can NOT appeal a TRO but, since it was invalid, it essentially became a preliminary 



injunction and the D could appeal it



c.  Rules for temporary restraining order:





i.  Need to post a bond, but some courts do not require




ii. Courts can grant a TRO without written notice to the adverse party






a. Have jurisdiction to grant it ex parte






b.  Allowed because often is an emergency proceeding






c. Need to have some proof under oath to get ex parte: Ex. Declaration, 





affidavit, or verified complaint






d.  Need to certify in writing the efforts used to notify the adverse party 




iii. TRO granted ex parte expires after ten days






a. General consensus is that the ten day period applies to every TRO






b.  Can then be extended for one additional period of ten days if good 





cause is shown






c. After first extension of TRO, if get consent from the adverse party, can 





then be extended for additional period






d. If no consent, then becomes preliminary injunction and D can appeal



d.  Rules for preliminary injunction:





i.  Must give notice to adverse party and give them opportunity to be heard and 




present evidence and oral testimony: can NOT be granted ex parte




ii. Need to post a bond if didn’t seek TRO, but some courts do not require




iii. For preliminary injunction to be granted, court must set out findings of fact 




and conclusions of law on the record: so it can be reviewed on appeal



e. Suppose case is very complicated and judge cannot hear all arguments and evidence 



within the twenty day period of the TRO: issue is unresolved so courts go both ways
V.  Structural Injunctions


A.  Structural injunctions are fairly recent: also called institutional injunctions


1.  Typically granted as remedy to civil rights violations


2.  Seeks to effectuate the reform of a social institution  



3.  Other backward looking injunction is the reparative injunction: it seeks to eliminate the 


effects of a past wrong

B.  Courts can sometimes act as “overseers” of gov’t institutions: Brown v. Board of Education 



1.  Supreme Court addressed the appropriate remedy for racial segregation in public schools


2.  District courts issue the structural injunctions, but the schools must remedy the problem  



a.  School authorities have the primary responsibility for elucidating, assessing, and 



solving these problems




b.  Courts have to consider whether the actions constitute good faith implementation of 



the governing constitutional principles    




c.  School district do it because they have the best knowledge: court does not know how 



to run a school or desegregate it



3.  Thus, structural injunctions usually have D being asked to come up with a plan, but courts 


have requirements that must be met


4.  This case was unusual because the Court talked about a few things which normally would be 


a reason not to grant an injunction




a.  Told the district courts not to get too carried away with balancing: could consider the 



public interest, but could not give it too much weight




b.  Lots of court supervision are usually a reason not to grant an injunction, but the Court 



said not to consider the burden of the supervision


5.  Burden rests on D to establish that additional time is necessary for the public interest and is 


consistent with good faith compliance at the earliest practicable date  



6.  Rather than grant P’s request for an order immediately ending all school segregation, the 


Court accepted that such a fundamental change could not be accomplished immediately  



7.  This case was the first to make the federal courts the “overseers” of local government

C.  Court will institute reformation plan if institution fails to do so: Hutto 


1.  District court found that conditions in the Arkansas penal system constituted cruel and 


unusual punishment: corrections board challenged order placing a maximum limit of 30 days on 


confinement in punitive isolation


2.  Court did not impose remedy of its own, but directed the department to make a substantial 


start on improving conditions as soon as funds became available




a.  Was a preventative injunction and not structural since court did not set requirements  



b.  One way to get around lack of funds, is to put limit on number of prisoners allowed


3.  Progress was found unsatisfactory so the court again offered prison officials the opportunity 


to devise a plan of their own


4.  The court concluded the violations had not been cured




a.  Entered order that placed limits on number of men in one cell, required 
each to have a 



bunk, discontinued the meager diet, and set 30 days as the maximum isolation sentence 



b.  This was a structural injunction since requirements were set for running the institution  



5.  Supreme Court found that the court was entitled to consider the severity of the violations in 


assessing the constitutionality of the conditions




a.  Trial court took note of the inmates’ diet, the overcrowding,  violence, vandalized 



cells, and the lack of professionalism and judgment of the guards




b.  Length of time spend in isolation was one of many factors


6.  Court found no error in the court’s conclusion that conditions were unconstitutional: if prison 


officials had fully complied with the earlier order, the time limit would not have been necessary



7.  Dissent (Rehnquist)




a. Remedy needs to be more specific to the constitutional harm




b.  Time limit was prophylactic and not preventative: it was meant to reduce the 




possibility of harm and was not directly aimed at preventing the constitutional harm   

VI.  Specific Performance

A.  Entitlement 


1.  Specific performance is a remedy for breach of contract: is like an injunction with court 


ordering breaching/repudiating party to do what it promised to do under the contract



2.  Uniqueness is important, but not sufficient for specific performance: Van Wagner Advertising 



a.  Facts




i.  P leased billboard space from Michaels in Manhattan





ii. Michaels sold building to D and sent P a letter canceling the lease




iii. P sued for declaration that the lease was still in existence and for specific 




performance of the contract




iv. Trial court found that there was an adequate remedy at law for damages so did 




not order specific performance  





v. P argued that the billboard space was unique as to its location




b.  Uniqueness is important factor in determining if specific performance is appropriate  




i.  If item is not unique, then damages are appropriate: Ex. Honda Accord





ii. Used items are more difficult because every used item is unique: would have a 




better argument for specific performance





iii. Artwork is almost always unique so specific performance will be appropriate




iv. But, if you look at an item closely enough, there will always be a difference so 




everything can be unique



c. Court affirmed decision of trial court: uniqueness in the sense of physical differences



 does not itself dictate the propriety of equitable relief  




d. Uniqueness is determined by the fungibility or economic interchangeability: are there 



differences that matter   




e. Traditional rule for land: always unique so money damages are inadequate



f.  Specific performance lies not in the inherent physical uniqueness of property but in the 


uncertainty of valuing it





i.  When the information to valuate is thin and unreliable, there is a substantial 




risk that money damages will either exceed or fall short of the actual loss




ii. When a court says that a particular contract is unique, it means that there is not 




enough info to permit it to calculate an award of money damages without 





imposing an unacceptably high risk of undercompensating the injured party



g.  Court said that even though lease might be unique, damages for the lease could be 



determined with certainty





i. Look at the market value of the property





ii. As a result, the legal remedy was not actually inadequate



h. Also held that specific performance would be inequitable in that its effect would be 



disproportionate in its harm to D and its assistance to P


3.    All legal remedies must be inadequate to get equitable remedy: Niagara Power Corp. 



a.  Facts




i.  Graver entered into a contract with Niagara Power for the construction of a 




steel plate liner for a power plant




ii. Niagara informed Graver it was terminating the contract




iii. Niagara sued Graver for specific performance of termination clause of the 




contract that required recovery of materials fabricated for the project 



b.  Court looked to the common law requirements for specific performance:





i.  Valid contract between the parties










ii. P has substantially performed under the contract and is willing to perform 




remaining obligations












iii. D is able to perform its obligations





iv.  P has no adequate remedy at law




c.  Held there was no adequate legal remedy because of the difficulty in quickly getting 



the parts to complete the construction



d. Also found that replevin was not an adequate legal remedy and it did not have to be 



exhausted before specific performance could be granted





i.  Replevin: order to get back goods that belong to you: type of legal restitution 




ii. Need to post a bond covering losses to the adverse party if later found that you 




weren’t entitled to the goods





iii. Sheriff goes out and holds the goods for ten days





iv. The goods were scattered around the country outside the jurisdiction of the 




state courts so was not an adequate remedy  


4.  Mutuality of remedies must exist to get specific performance: Henderson  




a.  Facts




i. P moved into home to take care of man since he was old and blind





ii. At his request, they entered into a contract where he would deliver the deed to 




his home in exchange for P taking care of him





iii. 18 days later he died before he had executed the deed: breach of contract




iv. Trial court refused to grant specific performance, but awarded money on a 




quantum meruit basis for services P had provided 




b. Since he was deceased, he could not be compelled to execute the conveyance





i.  Court could declare a constructive trust upon the property





ii. Referred to as “quasi-specific” performance



c.  Requirements for specific performance:





i. Valid contract





ii. P has performed





iii. D able to perform





iv. No adequate legal remedy




v. Contract supported by adequate consideration





vi. Mutuality of remedies




vii. Terms of contract sufficiently definite




d.  Remedy at law was inadequate because an interest is land is presumed to be unique



e. Contract was also supported by adequate consideration





i.  Proper time for testing consideration is at the formation of the contract 





ii. Trial court determined consideration at the time of trial and found that the 




services were not worth the full value of the property





iii. Appellate court found that fact that he died within a short time after entering 




contract did not make consideration inadequate: was a relatively fair deal



f.  Mutuality of remedies requires that both parties can get same remedy





i. Determined at time P sought enforcement of the contract





ii. Courts will not order specific performance for personal service contracts: is 




almost like involuntary servitude





iii. Will order a party NOT to work for someone 





iv. Thus, if he had been alive, he couldn’t have gotten specific performance for P 




to work for him: there would be no mutuality of remedies  





v.  But, the defense of lack of mutuality was not valid since P had fully performed 



obligation to take care of him during his lifetime: had become a moot question



g. Many jurisdictions have eliminated mutuality of remedy: CA still does require it
B.  Fashioning Relief:  Dover Shopping Center


1. Facts



a.  D entered into a lease operate a bakery in a shopping center




b. Lease provided for a minimum lease plus a shifting percentage of gross sales in 



excess of the minimum rent




c. D permanently closed its store because it was unprofitable and it would be less 




costly to pay the minimum rent than to resume operations



d. Claims that damages would be adequate and that continued court supervision 




would be too burdensome


2. Court ordered D to reopen the store  



3.  Courts have recognized the uniqueness of a percentage lease




a.  For damages, would have to determine the amount that would be received from 



sales, but could use past sales figures to make an estimate




b. Main difficulty is in measuring harm that would come from the withdrawal 




of one member of a shopping center: loss would be hard to determine so damages 




would be inadequate


4.  Also, since the court was careful to limit its order, supervision would not be difficult: 



store was just ordered to stay open
C.  Contracts for the Sale of Goods:  Sedmak 


1.  Facts



a. P entered into contract with D to purchase a limited edition Corvette: only 6,000 made



b. Asked the dealer to order the car equipped with some custom features




c  When the car arrived, the dealer told them that they could not purchase it at the original 


price because of increased demand, but could bid on it


2.  Court found there was a valid contract: suggested retail price was sufficiently definite


3.  When doing UCC question for specific performance, apply the list of seven requirements  



a.  But, there is a different standard for whether the legal remedy is adequate




b.  Under the UCC, specific performance is allowed if the good is unique or in “other 



proper circumstances”




c.  If unique, then  pretty much entitled to specific performance  



d. Other proper circumstances are where party can buy a substitute, but it would require 



great expense, trouble, delay, and inconvenience.  



4.  Court held that specific performance was appropriate because no adequate legal remedy    



5.  Car was not unique in the traditional legal sense, but its mileage, condition, ownership and 


appearance made it nearly impossible to obtain a similar car without considerable expense, delay 

and inconvenience.



6.  Thus, according to Van Wagner, if good is unique, the legal remedy may still be adequate, but  

if good is not unique, specific performance may be granted in other proper circumstances
VII. Equitable Defenses

A.  Laches 



1.  Equitable defenses are more flexible than the defenses at law




a.  Are supposed to only be defenses to equitable claims




b. But, this has changed some: Ex. Unconscionability, estoppel



2.  Courts look at reasonableness and prejudice from delay: Cornetta 



a. Facts




i.  P consistently received superior reviews, but received one bad review 





ii. Because of this review, he was passed over for promotion 





iii. He was passed over for promotion again and honorably discharged 





iv. Seven years later he brought the lawsuit for wrongful discharge: sought back 




pay and reinstatement




b. Back pay when brought with reinstatement is equitable remedy



c.  Statute of limitations:




i.  Applies to legal claims




ii. Fixed period of time




iii. Can toll: stops for certain periods of time




d.  Laches:





i. Applies to equitable claims





ii. Flexible period of time





iii. Not tolled: court looks at reasonableness 




e. Doctrine of laches is premised on the maxim: equity aids the vigilant, not those who 



slumber on their rights




f.  Two requirements for laches defense:





i. Unreasonable delay





ii. Prejudice: defense or economic 




g.  Court found that it was unclear on the record whether the delay was unreasonable: 



explanation hadn’t been given yet



h.  Defense prejudice includes loss of records, destruction of evidence, fading memories, 



or unavailability of witnesses: not issue here because D still had employment records



i. Economic prejudice centers on consequences, primarily monetary, should P prevail 




i.  Delaying lawsuit will increase damages





ii. Threat of laches will cause P to bring lawsuit earlier so damages will be less



j.  Court rejected the economic prejudice argument of D





i. Said the greater the damages sustained, the less likely the ability to be heard  




ii. This forces P to choose between substantially limiting his potential recovery or 




giving up the right to have his claim heard





iii. Held that potential receipt of back pay alone is insufficient to show prejudice 





3.  Back pay can be prejudicial if delay too long: Gruca 



a.  Facts





i.  P returned to his employer after his military service





ii. Because of his absence, employees junior to him held positions superior to him  



iii. P brought the action for back pay more than nine years after being rehired



b.  Any legal claims were barred by the statute of limitations





i.  Usually, D has burden of proof in establishing laches





ii. But, running of SoL creates a rebuttable presumption of inexcusable delay and 




prejudice to D: this shifts burden to P



c  P offered no reason for his delay in bringing the suit





i. Court found that P waited to ride the advantages of favorable judicial precedent





ii. Waiting for someone else to clarify the law was not a reasonable delay



d.  Also offered no evidence to rebut the presumption of prejudice





i. D offered evidence that it had to pay employees to perform the work that P 




would have accomplished





ii. Pecuniary loss is a factor in determining whether prejudice exists




e.  This court gave weight to back pay unlike in the previous case





i.  Back pay can be prejudicial if delay too long





ii. Use this rule for the final 

B.  Estoppel



1.  Elements:




a.  Party took position on a legal or factual issue



b.  Knew or should have known that someone would rely on it




c.  Someone did rely on it



2.  Example: Neighbor is building fence. Homeowner knows that it encroaches on her property. 


Waits for it to be built to bring lawsuit.  Homeowner is estopped from asserting encroachment


3.   Estoppel is rarely allowed against the gov’t: Vanhorn



a. Facts




i. D received gov’t scholarship in exchange for working in an area where it 




was difficult to attract health professionals




ii. D worked for six weeks, but they were unable to pay her salary





iii. Spoke with guidance officer who told her she could switch areas and still be in 



compliance: but, she did not apply for formal written approval as required



b. Estoppel test used by this court:




i. Party to be estopped must know the facts





ii. Knew that other party would rely on the statement or should have known she 




was likely to rely on it





iii. Latter must be ignorant of the true facts





iv. Must rely on the former’s conduct to his injury




c. D claimed that she relied on her guidance officer’s statement and that he was estopped 



from denying it: wanted to hold the government to the position that the officer took  




i.  Allowing estoppel would allow a low level government employee to effectively 



modify a government statute/contract





ii. Thus, estoppel can modify a written agreement



d. Court held that D’s service was governed by statute so ordinary contract defenses do 



not apply



e.  Damages provision of the statute states that if the recipient breaches the agreement for 



“any reason”, recipient is in breach



f.  Almost impossible to get estoppel against gov’t: can only get in rare cases 





i.  Must show that gov’t engaged in affirmative misconduct




ii. Must demonstrate that injustice caused by misconduct is sufficiently severe to 




outweigh interest of public not to be unduly damaged by imposition of estoppel


4.  Estoppel can also be used to prevent the raising of a defense: John R. 



a.  John R. was sexually molested by his teacher while participating in a school program



b. When John told the teacher he would report the incident, the teacher threatened him  



c. As a result of the threats, John did not tell his father for ten months



d  A public entity can be estopped from asserting the SoL of the California Tort Claims 



Act where its agents have prevented or deterred the filing of a timely claim



e.  Estoppel may be invoked when there are acts of violence or intimidation that are 



intended to prevent the filing of a claim



f.  Court held that the time required for filing a claim against the district was tolled during 


the period that the threats prevented P from pursuing his claim



g.  Estoppel is not being used as a defense to an equitable claim: it is being used to 



prevent D from raising a defense
C.  Unclean Hands



1.   Senter v. Furman p. 142




a.  P conveyed his house to his nurse, D




b.  Claims he was induced to execute the deed by fraud and undue influence of when he 



was facing a malpractice claim and that she promised to return the property to him after



c. If asserting fraud, then saying that deed was invalid and she never owned it




d.  If asserting that she promised to give it back, then saying that she did own it, but was 



supposed to return it: these are opposite stances and cannot assert both at same time



e. P claimed that the house was being held by D under a constructive trust





i.  She would become a constructive trustee and has duty to convey it to P





ii. Is a method to get around Statute of Frauds that requires written contract  




iii. Constructive trust is a type of equitable restitution  





iv. Requires a promise, reliance on the promise, and unjust enrichment  




f. Court held that equity would not enforce the alleged trust arrangement since it was a 



conveyance to conceal assets from creditors




g. No relief could be afforded victimized wrongdoer and parties were left as they stand  




h.  Requirements for unclean hands





i. Serious misconduct by P: Ex. Transferring house was a fraudulent conveyance




ii. Misconduct must also relate to the underlying action






a.  If court would facilitate the misconduct by granting the remedy, then 





conduct is related to the action: court wants to keep its own hands clean 





b.  But, by leaving the parties where they stand, the court has actually 





contributed to inequity: creditors can’t go after asset since nurse has it


2.  Laches and unclean hands are strictly equitable defenses: Byron 



a.  Facts




i.  Byron claimed that 1st Am. entitled him to be reinstated to his position with 




back pay because he was fired for political reasons




ii. Byron had been a friend of a member of the Board of Commissioners





iii. Was given a job to inspect the courthouses for maintenance problems, but it 




actually required him to do nothing




iv. His friend was defeated for renomination and the new Commissioner fired 




Byron and gave the job to his son



b. Court refused to reinstate Byron to his position because he had been a “ghost 




employee” which was a crime under state law





i. Unclean hands prevented the equitable remedy of reinstatement





ii. By putting P back in his job, the court would be facilitating the misconduct



c. D himself had unclean hands since he gave his son the “ghost employment”: having 



unclean hands does not prevent you from raising the doctrine in defense



d. Court also held that the doctrine prevented Byron from recovering legal damages even 



though it had previously been limited as a defense to equitable suits





i. If damages are for back pay, then is equitable remedy





ii. For purposes of final, laches and unclean hands are strictly equitable defenses: 




do not use for legal remedies  


3.  Misconduct must be serious and related to the lawsuit: North Pacific Lumber



a. As part of employment contract with a lumber wholesaler, D agreed to refrain from 



competing with P for two years following his employment termination



b.  P sued for specific performance of the contract: wanted to prevent him from working 



for the competitor



c.  Unclean hands requires that the misconduct be serious enough to justify a court’s 



denying relief on an otherwise valid claim



d.  Misconduct must also be related to the subject matter of the suit



e.  P had a practice of making improper profits on resolution of claims





i.  Would obtain buyer’s consent to a low settlement figure and then tell the 




lumber supplier that the buyer demanded a high settlement





ii. P would then pocket the difference of the settlement




iii. D had supervised these activities as one of his responsibilities



f.  Obviously is serious misconduct, but unclear how it was related to the underlying 



action of enforcing a non-competition clause





i. Appears that court is making assumption that if grant injunction against 





working for the competitor, then D will have to go back to working for P 





ii. Would then be forced to participate in fraud and court would be facilitating the 




wrongful conduct



g. Court held that it should not lend its aid to an employer who attempts to enforce a 



contract of employment which involves participation of the employee in a wrongdoing
D.  Unconscionability



1.  Requires that the contract shock conscience of the court: Wentz 



a. Facts





i.  D entered into an output contract with P to deliver carrots at $30 per ton





ii. D told P it would not deliver the carrots at the contract price because the 




variety of carrots was virtually unobtainable and the market price was $90 per ton




iii. P sought specific performance of the contract and an injunction against D 




selling the carrots to other people



b.  Court found that the bargain was too unconscionable to entitle P to equitable relief  



c. Unconscionability can be granted if the contract shocks the conscience of the court  




d. Contract prohibited growers from selling carrots to anyone else and provided for 



liquidated damages for breaches by the grower, but included no provision for damages 



for breaches of contract by P  




e.  Allowed P to be excused from accepting carrots under certain circumstances and 



prevented the grower from selling them elsewhere unless P agreed



f.  Professor sees problem because the court is allowing the grower to get out of the 



contract and sell the carrots at a higher price





i.  If the market price had dropped, the grower would have begged the court to 




enforce the contract





ii.  Also, the court used unconscionability because of the clauses in the contract, 




but P has not tried to use the clauses





iii.  Just wants D to deliver the carrots: clauses have nothing to do with this

 



iv.  Unconscionability might have been more appropriate if P had refused to 




accept 
D’s carrots and not given consent for them to sell them elsewhere


2.  Unconscionability can be used for equitable and legal remedies: Jones 



a.  P were welfare recipients and purchased freezer for $900 when retail value was $300 



b.  With credit charges and sales tax, the total amount was $1,439: P had paid $619 of it



c. Section 2-302 of the UCC allows a court to refuse enforcement of a contract or part of 



a contract on the grounds it is unconscionable





i.  Court decides as a matter of law: trier of fact does not decide





ii. Court looks at whether contract was unconscionable at time it was made



d. Under the UCC, unconscionability defense can be used regardless whether seeking 



equitable or legal remedies



e. Court found that the sale of the freezer for so much greater had been unconscionable 



and that the $619 had already adequately compensated D



f.  Three factors to look at for unconscionability




i.  Substantive: focuses on the terms of the contract - flaw in the bargain





ii. Procedural:  refers to the way the contract was made or the inequality of power 




or sophistication between the parties - flaw in the bargaining process





iii. Surrounding circumstances: Ex. Welfare recipients, uneducated, illiterate 




individual, gross inequality of bargaining power 


E.  Election of Remedies



1.   Election of remedies is still a defense in CA: Gregg 



a.  D told P that she had equity in another home and would use this to buy home from P  



b. After moving in, D made no payments and P discovered that D had lied 



c.  P asserted two causes of action: fraud and breach of contract



d.  P wanted two remedies: 





i.  Get the house back and damages for lost use of the house





ii. Rescission






a. Try to undo the deal and restore the benefits back to the other  






b. Restitution usually goes along with rescission of the contract



e.  D argued that since P got the second remedy, they couldn’t also get the first remedy



f.  Can ask for more than one remedy in the prayer for the relief



g.  Election of remedies does not involve duplication of remedies, but whether they are 



theoretically inconsistent



h.  Requirements for election of remedies as defense:





i.  Must show that remedies are theoretically inconsistent 




ii. Choice of one remedy over the other






a. At some point court will tell P to choose a remedy






b. Other times P might be forced to take a remedy: Ex. Being granted 





summary judgment for rescission prevented P from getting damages




i.  Suppose buy a house and move in.  Discover that house is infested with mold and 



hadn’t been disclosed by seller.  




i. Buyer might want damages for the costs to clean the mold





ii. Might seek rescission and restitution of the deal: seller would take house back 




and buyer gets money back





iii. These remedies would be inconsistent: damages remedy affirms the contract 




and the other rescinds the contract





iv. If P was allowed to rescind, D could use election of remedies as a defense to P 




also getting damages



j.  In this case, getting house back and asking for damages for lost use does not appear 



to be inconsistent: the court did not decide on this ground



k.  Instead of saying that the remedies were not theoretically inconsistent, the Wisconsin 



Supreme Court said the issue was whether there was double recovery





i.  By saying it was not concerned with inconsistency, the court basically 





eliminated the defense of election of remedies





ii. No double recovery is already an essential component of remedies: do not need 



election of remedies to prevent it



l.  Election of remedies saves court time because it allows the D to knock out an issue so 



do not need to present evidence on it



m.  With no election of remedies, do not know there will be double recovery until the 



jury returns the verdict: judge then must decide which recovery to give



n. In CA, election of remedies still is a defense: for exam use election of remedies


2.  Substantial reliance on the election of remedy is required: Hawes   




a.  Husband went to wife’s house and sold some of the furniture to D




b.  Wife got damages for $1,500 from husband, but he never paid the judgment




c.  Wife then sued D to get furniture back



d.  Two different remedies




i.  $1,500 in damages for sold furniture





ii. Replevin: wanted the furniture back




e. By granting damages, court had affirmed the sale of the furniture




f.  Granting replevin would disaffirm the sale: two remedies are inconsistent



g. Court did not allow D to assert election of remedies as a defense





i. Substantial reliance on the election of remedies is the third requirement 





ii. This makes the defense look a lot like estoppel




h.  D did not rely on wife’s election to get damages




i. If had sold the furniture to someone else, then would be reliance on the election  



ii. If had spent money fixing the furniture because he thought that the wife was 




getting damages from her husband, then also would be reliance 


3.  In one CA case, P wanted damages for breach of contract and to foreclose on the security: 


court held that where P executed against the security that secures the contract, this functions as 


an election of remedies and cannot also pursue damages

F.  Professor’s maxims for equitable defenses


1.  Laches: he who hesitates is lost



2.  Unclean hands: you have a lot of nerve



3.  Election of remedies: you can’t have your cake and eat it too



4.  Unconscionable: you won’t get away with this



5.  Estoppel: a person’s word is their bond
VIII.  Contempt

A.  Introduction


1.  Is divided into civil and criminal contempt



a.  Civil contempt 



i.  Is a remedy that a participant is entitled to




ii. Can involve compensation or an order: Ex. To produce documents




b. Criminal contempt: is a criminal sanction





i.  Does not provide a remedy but vindicates the power of the court and protects 




the process of the justice system





ii. Is punitive and does not terminate on compliance with court order


2.  Person engaging in contempt is a contemnor: the conduct is contemptuous (bad behavior) or 


contumacious (disobedient of order) 

B.  Criminal Contempt



1.  Court order must be obeyed even if it is erroneous: City of Birmingham



a.  Court granted injunction against civil rights protestors marching in a demonstration 



without a parade permit: most jurisdictions require a permit to march



b.  Protestors disobeyed the injunction and did their demonstration  




c.  Court issued an order to show cause (OSC)





i.  Protestors said the injunction was vague/overbroad and restrained free speech  




ii. They were then held in contempt



d.  Supreme Court upheld the contempt judgment




e.  Court was concerned with people deciding for themselves which injunctions to follow  



i.  Wanted to preserve the institutional powers of the courts





ii. Otherwise, people on both sides would have been disobeying injunctions by 




claiming unconstitutionality: this could have impeded desegregation



f.  A court’s orders must be obeyed even though the order may be erroneous: it is for the 



appellate court to determine the validity of the law





i.  But, if injunction was obviously invalid, then maybe they could have disobeyed 



ii. In this case, the injunction requiring a parade permit was not clearly invalid



g.  If injunction was overbroad, they should have appealed the injunction and the court 



would have issued a ruling on the constitutionality  




h.  If their appeal had been met with frustration and delay, then they also might have been 


allowed to disobey the injunction  




i.  If court issuing injunction did not have jurisdiction or the parties were not properly 



served, then could have disobeyed it



j.  Rule that injunction must be obeyed until overturned applies primarily to criminal 



contempt and not to civil


2.  Must prove beyond reasonable doubt for criminal contempt: In re Stewart 



a.  Facts




i.  Employee was on jury duty and told judge he was having problems with D 




ii. Judge told him to tell D that nothing should occur because of doing jury duty




iii. Judge heard that he that been transferred from his old position





iv. Called D into court and charged him with civil contempt





v. Prosecutor and judge cross-examined D and found him guilty 



b.  D claimed he was entitled to due process: right to counsel, to be advised of charges 



against him, have reasonable opportunity to meet them, and call witnesses on his behalf 




c. Due process is not required in civil, but is required in criminal contempt



d.  Appellate court found that the contempt was actually criminal and that the proceeding 



had not complied with due process 





i. Was not informed had right to counsel and not allowed to call witnesses




ii. Standard used to convict him was lower: judge did not prove the elements 




beyond a reasonable doubt



e.  Must prove one of the following beyond a reasonable doubt for criminal contempt:





i.  Misbehavior of any person in judge’s presence or so near thereto as to obstruct 




the administration of justice




ii. Misbehavior of any of its officers in their official transactions: Ex. Attorneys





iii. Disobedience to its lawful writ, process, order, rule, decree, or command



f.  D was not near presence of court and did not obstruct the administration of justice  



g.  Was not proven beyond a reasonable doubt that D disobeyed what court said and 



judge did not directly order D but told the employee to tell him: this is not sufficient


3.  Due process is only required for indirect criminal contempt: Ex parte Daniels



a.  Facts





i.  D was appearing pro se: judge told her to leave and return with counsel





ii. At the door of courtroom, she got in a scuffle with the bailiff





iii. Judge brought her back few hours later for a summary criminal contempt 




proceeding: shorter hearing where she didn’t have full due process



b.  When contempt takes place in presence of court, judge can use summary proceeding: 



is direct criminal contempt        




c. Due process is only required for indirect criminal contempt  




d. When judge is present, doesn’t need to call witnesses: knows what happened so do not 



need full trial




e.  Allows judge to immediately enforce the integrity of the court system and prevent 



obstruction of justice



f.  D claimed the events weren’t in the presence of the judge, but took place at doorway 



where judge couldn’t see everything: needed bailiff to explain some of the facts to him



g.  Court took very expansive view of presence: the court is present whenever any of its 



constituent parts, courtroom, jury and jury room are engaged in work of the court





i.  Judge is “present” everywhere in the courthouse





ii. This is an overly broad view    


4.  Conduct needs to occur in “actual” presence of judge: Greenberg 



a.  Lawyer made objection to prosecutor’s remarks and judge told him to sit down




b.  He kept objecting and the judge told him to keep quiet




c.  Court later did a summary proceeding and held the lawyer in criminal contempt



d.  Judge did not certify that he saw or heard the conduct





i.  Is required under the federal rules to provide a basis for appellate review 




ii. Reading into the record is not sufficient





iii. Actually need to write that certifies that he saw or heard the conduct  




iv. Must also recite the facts, sign the certification, and enter it on the record



e.  Also was unclear what the judge witnessed: said heard the slamming of “something”  




i.  Not clear if the lawyer did the slamming





ii. Judge needs to be sure before can hold in direct contempt



f.  Court said that the conduct needs to occur in the “actual” presence of the judge





i. Ex. If judge can certify that he heard a person swear at him from the hallway, 




this may be sufficient for actual presence





ii. Much narrower standard than in the previous case





iii. For final, use “actual” presence rule



g.  Summary criminal contempt proceedings require “exceptional circumstances”





i.  Ex. Threatening the judge, disrupting the hearing, obstructing court proceeding  



ii. Conduct needs to be an open, serious threat to orderly procedure justifying 




instant and summary punishment



h.  Lawyer’s conduct was not serious enough to cause obstruction of the judicial process  




i.  Was entitled to formal ruling on objection and did not receive one from judge  




ii. His loud voice and hand slamming during the heat of a trial did not constitute 




exceptional circumstances  


5.  If order is later reversed, can hold in criminal, but not civil contempt: United Mine Workers 



a. Court issued injunctions against workers going on strike




b. When disobeyed, were held in civil and criminal contempt



c.  Violations of a court order are criminal contempt even though the order is later set 



aside on appeal  




d.  If an order is later reversed, then cannot hold in civil contempt for disobeying 





i.  Party was not entitled to the remedy since order was reversed





ii. Purpose of civil contempt is to provide a remedy and not to only protect the 




integrity of the court



e.  Thus, after reversal of court order, can be punished for criminal, but not civil contempt 


if disobeyed the order

C. Civil Contempt 


1.  Two types are compensatory and coercive: Schmidt 



a.  Facts




i.  P filed motion to replevin software and court ordered D to comply





ii. D was not to delete any programs prior to P copying the files




iii. When P came to copy the software, some of the files had been deleted 





iv. Judge entered civil contempt against D: ensures future compliance with the 




order and was not punishing for past conduct



b.  If D had refused to let P copy software at all, might have used coercive civil contempt



c. Two types of civil contempt




i.  Compensatory: damages are imposed






a.  Must be specifically caused by the disobedience of the court order 





b. Damages go to the party injured by the loss






c. Must prove damages with reasonable certainty




ii. Coercive: judge imposes fines paid to the state or orders imprisonment






a. Seeks to compel present and future compliance with the court’s order






b.  Is indefinite fine or term of imprisonment in order to provide pressure 





to comply: the party holds “the jail key in their pocket”






c. Looks a lot like criminal contempt, but for criminal contempt the 





punishment is fixed: Ex. Five days in jail



d.  Since the files had already been deleted, coercive civil contempt would not 




accomplish anything so judge held D in compensatory civil contempt




e.  Gave costs and attorney fees of $3000 and damages of $2500 for loss of  software



f.  Costs were incurred by the failure to obey the order so court upheld the $3000




g.  Court reversed on the $2500 because there had been no evidence to support the 



amount of losses: were speculative and not supported by any evidence


2.  Substantial compliance and good faith are defenses: Darwin 



a. Facts




i.  Court ordered D to provide documents to the IRS





ii. Didn’t comply at first, but did partially comply after court imposed fine of 




$5000/day: was coercive civil contempt





iii. Fine is not meant to compensate P: the fine is paid to the government 





iv. Criminal contempt fine is a fixed punishment for past actions whereas a 




coercive fine looks to the future and is indefinite: is a threat by the judge



b. There are two defenses to civil contempt:





i.  Substantial compliance





ii. Good faith




c. D’s indifference to his incomplete production of documents did not show good faith  




d.  Substantial compliance is found where all reasonable steps have been taken to ensure 



compliance: inadvertent omissions are excused only if such steps are taken  

 


e.  D did not exercise reasonable steps in looking for the missing documents  
IX.  Special Issues in Equity

A.  Statutory Limitations on Discretion 



1.  Where Congress has already balanced, court must grant injunction: Hill 



a.  Facts




i.  TVA had partially constructed dam that was funded by Congress





ii. Scientist discovered rare “snail darter” fish in river: was endangered species  




iii. Flooding the area would destroy habitat of the fish




iv. P sought to enjoin completion of the dam  




b.  Trial court found completion of dam would violate the Endangered Species Act, but 



refused to grant injunction





i. Would waste money that was put into dam and Congress had continued to 




allocate money for the dam even after fish was discovered





ii. It engaged in weighing of the equities



c.  Supreme Court found there was a violation of the Act: statute clearly commanded all



 agencies to insure that their activities do not jeopardize existence of endangered species 




d.  Court said that judicial balancing was inappropriate





i.  Congress had already balanced the equities when it passed the Act and gave 




endangered species the highest priority





ii. Courts must carry out intentions of Congress and automatically grant injunction



e.  Must look at purpose of statute to determine whether Congress would want the court 



to balance the equities or if an injunction must be granted



f.  If statute is silent, then do not automatically grant injunction

B.  Enjoining Speech or Litigation 



1.  Prior restraints on speech are very difficult to obtain: Mazzocone 



a.  Law firm had obtained settlement for D and she thought firm kept $25 of it for itself



b.  D demonstrated and wore sandwich board claiming that the law firm had stolen 



money from her and sold her to the insurance company



c.  Law firm was granted injunction against her protesting



d.  Court reversed the injunction and held that damages were an adequate remedy at law: 



but seems that damages would be difficult to calculate and prove



e.  Also, fact that D was indigent was improper to consider in granting injunction



f.  Main reason was reversed is that injunction would be a prior restraint on speech: 



equity will generally not enjoin defamatory speech




g.  First Amendment weighs very heavily in the balancing process: have to show very 



strong compelling interest that outweighs the 1st Amend. rights



h.  When asking for injunction, there is no right to jury trial, but judge would decide  




i.  Right to jury is important since First Amendment issue





ii. Jury can act as deterrent to censorship of speech: might be more sympathetic 



i.  Law firm should obtain damage remedy: if then cannot collect from her, then court 



may be more sympathetic in granting injunction



j.  Injunctions on speech are often upheld in abortion clinic cases





i.  Do not prevent protestors, but impose noise restrictions and buffer zones 




ii. Injunction needs to be phrased as narrowly as possible to do least amount of 




damage to the free speech  




k.  In Kobe Bryant case, court issued “gag order” to prevent newspapers from publishing 



victim’s sexual history that had been leaked to media: was upheld by state supreme court


2.  Public interest may outweigh interest in privacy: Mabe



a.  Facts





i.  D owned gift shop on beach boardwalk where there were no restrooms





ii. Went to city counsel, but they did nothing





iii. Then printed pamphlets apologizing for no restrooms and listed the contact 




info for the counsel members




iv. City wanted injunction against D distributing the pamphlets



b.  Court acknowledged right to privacy of the counsel members, but found there were 



overriding circumstances: were public officials and info was available in phonebooks  




c.  In balancing, court took into account that injunction would be prior restraint on speech 



d.  First Amendment is present in defamation cases where public officials and matter of 



public concern: NY Times v. Sullivan



e.  Court was concerned with fact that D was communicating on matters of public 




concern: strong 1st Amend. interest



f.  Because of this, the public interest outweighed the P’s interest in privacy and an 



injunction was inappropriate: private interest might not be enough to outweigh privacy



g.  If the purpose of the pamphlets had been to harass the city counsel instead of 




communicate, then an injunction would likely be granted 
  

3.  Court may enjoin baseless repetitive complaints: Pavilonis



a.  Facts




i.  D had filed several complaints against public officials





ii. Were so general and vague that it was impossible for the officials to 





answer the complaints





iii. Trial court issued injunction against D filing any more without court approval



b.  Court may enjoin lawsuits where complaints are:





i.  Baseless, vexatious, and repetitive





ii. Meant to harass, OR





iii. Relitigating cases that have already been resolved  




c.  Not clear if D’s complaints had been baseless, but they were repetitive since had been 



filed several times




d.  Were not meant to harass: she had been unsure how to compose a complaint



e.  Court held that the injunction was proper because the officials had been called upon to 


answer multiple, vague complaints




f.  Injunction was not clearly justified: was a close decision




g.  D can still file future complaints with court approval  
X. Contract Damages


A.  Introduction



1.  For contract remedy must show:




a.  There was a contract




b.  It was breached or was anticipatory repudiation  



2. Is unusual for a court to specifically enforce a promise




a.  Normal remedy for breach of contract is substitutional 




b. Gives something that acts as substitute for performance: Ex. Money



3.  Distinctions between two major categories of damages for breach of contract:




a. Ordinary contract damages (expectation)




i.  Gives party the benefit of the bargain





ii. Places party in position at the time performance would have been carried out



b.  Tort damages: sometimes can not get contract damages and settle for tort damages




i.  Make injured party whole





ii. Calculate how much money to put party in position before the injury





iii. Tries to restore the status quo ante: way things were before





iv. If award tort damages for contract, need to put party in position before making 




of the contract


4.  Types of contract damages



a. Expectation (contract)





i.  Gives benefit of bargain





ii. Most preferable because get profit that you would have made on the contract: 




always try to get first




b.  Reliance





i. Restores status quo ante and protects the reliance interest





ii. Measured by loss suffered because relied on statements made by someone else 




iii. Are out-of-pocket damages suffered because of the contract





iv. Do not get profit would have received, but only expenses that were paid to 




third parties because of the reliance



c. Restitution





i. Restores status quo ante





ii. Get back benefit that was conferred on other party as result of contract



5.  Example: high school student was stood up for prom so sued her date for breach of contract  



a.  Expectation damages were too speculative: not clear what experience would be worth  



b.  Court awarded reliance damages: expenses she spent to buy the dress


6.  Reasonable costs to complete performance cannot be clearly disproportionate to the loss in 


value to owner: Hess  




a.  D counterclaimed against P for construction defects in house



b.  Court focuses on defects in cabinets: much lower quality than requested in contract



c.  Best damages for D would be expectation: money necessary to install better cabinets



d.  Expectation damages are generally calculated as:





i.  Loss in value to injured party 





ii. Other damages that can prove: Ex. Incidental, consequential damages suffered 




from the breach





iii. Subtract cost avoided by not having to perform contract




e.  Suppose contractor builds house and fails to install Jacuzzi that was required 





i.  One way to measure damages: cost for someone else to complete construction 




or repair the defect.  




ii. Other way to measure damages






a. Look at reduction in value of the house






b. Difference in market value with and without the Jacuzzi





iii. General rule: give cost to complete construction because that is what you 




bargained for in contract  






a.  Ex. Costs 9k to install Jacuzzi and difference in home value is 10k 






1.  Would get the 9k: bargained for the Jacuzzi and not the 







increased home value







2.  If ordered D to pay more than cost to complete construction, 






acts as punishment of D and provides a windfall to P





b.  Ex. Costs 15k to install and difference in home value is 10k







1.  Need to determine whether disproportionate difference between 





the two values







2.  Could go either way since on the borderline




f.  Rule: reasonable costs to complete performance cannot be clearly disproportionate to 



the loss in value to owner





i.  Usually loss in value to owner is equal to the reduction in market value: easiest 




way to measure





ii. But sometimes the two are not the same: Ex.  Value to owner may be greater 




since wanted to enjoy the Jacuzzi



g.  In the case, need to calculate cost to complete the cabinet work as specified





i.  Labor in removing old cabinets and cost to buy and install the correct cabinets  




ii. Would need to subtract the salvage value of the old cabinets





iii. Total amount was 8k




h.  Also need to determine the difference in market value of apartment building for old 



cabinets and new cabinets: total amount was 5k



i.  Not clear if the difference between the two values is clearly disproportionate





i.  But, if gave D the 8k for the cost to complete, they are unlikely to spend the 




money on installing new cabinets since would only increase market value by 5k 




and they were planning on selling the building for profit: would be a windfall  




ii. Whether the party would actually complete the job is a factor to take into 




account in deciding which amount to give, but is not a part of the rule





iii. Minority of courts will look to see whether contractor failed to complete the 




construction because of bad faith: if bad faith, then award the greater value  




j.  If party had the construction completed and then sued for reimbursement, court might 



be more willing to award a disproportionate amount since obviously the party wanted it


7.   Expectation damages must be proved with reasonable certainty: Gruber 
 


a.  Facts




i.  D promised P to use reasonable diligence to sell as many cards as it could: a



 
promise can be adequate consideration for contract  




ii. D made no effort to sell any of the cards so was in breach



b.  P wants expectation damages: amount would have received if all cards had been sold 




i.  But, D did not promise to sell all the cards





ii. Unclear how many cards would have been sold so not entitled to the profit they 



might have made: could not prove with reasonable certainty   




c.  Because no evidence for expectation damages, P wanted reliance damages





i.  Their out of pocket expenses for making the cards





ii. Can recover whatever amount they can prove with reasonable certainty    




d.  D wanted reliance damages reduced because P later sold cards for few cents each 




i. Argued that the cards would never have sold for the higher price





ii. Not enough cards would have been sold to cover expenses of making them





iii. If D can prove that P would have lost money on the contract, then that amount 




would be deducted from the reliance damages





iv. D was not able to carry the burden of proof: there was not any evidence





v. Fact that cards sold for less years later does not establish that they would have 




been sold at a loss if D had not breached    



e. No restitution damages because no benefit was conferred on D: P kept the cards


8.   If no express contract, need to establish substantive right to recover: Campbell



a.  Facts





i.  P made microfilms for D’s library director





ii. He had no authority to make the contract with P so D sent the films back after 




using them for two months



b.  Since director had no authority to enter into the contract, there was no express contract 


and P could not recover for breach: could not use estoppel since was government agency  




c.  P then sought recovery based on a contract implied in law





i.  Is not a real contract, but is imposed in the interest of justice





ii. Typically involves unjust enrichment





iii. Ex. Person is unconscious and doctor who walks by treats him: contract to pay 



will be implied      





iv. Since not real contract, are not automatically entitled to same remedies as with 




express contract, but need to show substantive right to restitution




v.  Requirements: 






a.  P conferred a benefit on D






b.  D would be unjustly enriched if D retains benefit of it




d.  Contract implied in fact is a real contract: get same remedies for breach as would get 



for an express contract



e.  P sought remedy of quantum meruit (as much as it is worth)

 



i.  Restitution under quantum meruit is measured by the value of the benefit to D





ii. Is not measured by the fair market value of the benefit: only use if cannot 




establish value to D



f.  Court held that the value of the films to D was too difficult to measure





i.  Valuable to have books in the library, but cannot pinpoint an actual amount  




ii. Since could not determine the value to D, the court did measure the amount 




of the films by the fair market value    


B.  Sale of Goods Contract



1.  Buyer’s Remedies




a.  Failure to “cover” does not prevent receiving other remedies: Wilson 




i.  P entered into contract to buy bricks from D, but D failed to deliver all bricks




ii. UCC § 2-711: Remedies available to the buyer





a.  When seller fails to deliver or repudiates, buyer may cancel and recover 




the price that has been paid






b.  Thus buyer is entitled to restitution of the pre-paid amount





c.  Buyer may “cover” by purchasing the items elsewhere (2-712)





d.  Buyer may recover damages for non-delivery (2-713)





e. Buyer can obtain specific performance or replevy the goods (2-716)




iii. UCC § 2-712: Buyer’s procurement of substitute goods – “Cover”





a. Buyer may “cover” by making in good faith and without unreasonable 





delay a reasonable purchase of goods in substitution of those from seller





b. Buyer may recover from seller: the difference between what was paid 





for the replacement goods and the contract price for the goods





c. Failure of buyer to “cover” does not prevent buyer from other remedies





d. In this case, P did not “cover” by purchasing the bricks elsewhere




iv. UCC § 2-713: Buyer’s damages for non-delivery or repudiation






a.  Buyer can recover difference between market price at the time the 





buyer learned of the breach and the contract price 





b. May also receive any incidental and consequential damages (2-715)





c. Minus the costs avoided by the breach    





v.  Court awarded P money had pre-paid for bricks and damages for non-delivery



b.  Consequential damages require that seller have been able to foresee needs: Gerwin 




i.  P bought restaurant equipment, but D failed to deliver it





ii. P then sued for breach of contract




iii. UCC was adopted in CA: is in the CA Commercial Code




iv. P sought consequential damages: lost rent since didn’t get equipment on time




v. Ordinary: direct damages that normally result from breach of that contract type





vi. Consequential: indirect damages above and beyond normal damages






a. Often result in dealings with third party where can’t perform or are 





delayed because of the breach






b.  Ex. Lost profits from transaction with third party





vi.  UCC 2-715: Buyer’s Incidental and Consequential Damages






a.  Any loss resulting from general or particular requirements and needs of 




which the seller at the time of contracting had reason to know and which 





could not reasonably be prevented by cover or otherwise, AND






b.  Injury to person or property proximately resulting from any breach of 





warranty




vii. Seller must have been able to foresee certain needs or must have had 





reason to know  





viii. Under the UCC, only the buyer can get consequential damages: are NOT 




available to the seller




ix. P did not cover because the only other equipment available was too expensive:  



need only make reasonable efforts to cover




x.  Must also establish consequential damages with reasonable certainty





a. “New business” rule: new business is not entitled to lost profits because 





would be too speculative: this per se rule has been widely rejected  






b.  Court did not follow per se rule, but allowed P to prove his profits




xi.  Because the profits couldn’t be established, P was only allowed ordinary 




damages and not consequential damages




c.  Consequential damages for breach of warranty require proving causation: Cannon




i.  Facts





a.  P purchased peas from D for his café






b.  Customer found worm in his peas and many customers walked out  





c.  His business declined and P sued D for breach of warranty




ii. UCC §2-714 Buyer’s Damages for Breach in Regard to Accepted Goods






a.  Remedy for breach of warranty: difference between value of goods 





accepted and value would have had if had been as warranted  






b.  Since the peas weren’t very expensive, P would not recover very much 





for the breach of express and implied warranty 





iii. Also wanted consequential damages: claimed lost customers because of worm
  



iv. Under 2-715(b), the consequential injury to person or property must 





proximately result from the breach of warranty






a.  Is requirement of causation






b.  Court held that the customer’s reaction to the worm may have been an 





intervening cause that broke the chain of causation 





v.  P could not prove causation so D was not liable for consequential damages  



d.   No need to cover if will not mitigate damages: Palmer Johnson 




i.  P purchased yacht from D and told D he needed it by summer





ii. Yacht was delivered five months late and then needed repairs for a few months




iii. Ordinary damages for breach: difference between as warranted and as is





iv. Not seeking ordinary damages: says D’s attempt to cure defects took too long  




v. To get consequential damages, under UCC 2-715, the seller must be aware of 




the buyer’s needs or have reason to know and the damages could not reasonably 




be prevented by cover




vi.  Lost use was measured by the cost to rent a substitute vessel  





vii. P did not rent a substitute yacht, but court found that he did not have to cover  





a.  If had rented yacht, would not have mitigated damages D has to pay






b.  D would have to pay the same amount of damages whether P rented or 





did not rent a boat to use during the summer    





viii. Suppose P was in the business of taking people out on his boat






a. Then, would have to make reasonable attempts to cover by renting a 





boat in order to mitigate his lost profits






b. If cost of covering would be greater than his profits, don’t need to cover




ix. Court held that P was entitled to consequential damages






a. D knew that P was planning on spending the summer on his yacht






b. P was awarded damages for the days he would have spent on his yacht  



2.  Seller’s Remedies




a.  Seller may get incidental but not consequential damages: Sprague 




i.  P entered into contract to sell D lumber





ii. D cancelled the contract and refused to accept any more logs




iii. UCC 2-703: Seller’s Remedies in General - when buyer wrongfully rejects or 




revokes acceptance or repudiates, then seller may:






a.  withhold delivery of such goods






b.  stop delivery by any bailee






c.  resell and recover damages: 2-706






d.  recover damages for non-acceptance: 2-708





iv. UCC 2-706: Seller’s Resale Including Contract for Resale (“cover” equivalent)






a.  (1)Where resale is made in good faith and in a commercially reasonable 




manner, seller may recover difference between resale and contract price 






1.  Plus any incidental damages (2-710)







2.  Minus expenses saved because of the buyer’s breach





b.  (2) Resale can be at private or public sale: before resale, seller must 





give buyer reasonable notice of the intention to resale  





v. P resold the logs without giving notice to D so P was not entitled to the 





difference between the contract and resale price




vi. UCC 2-708: Seller’s Damages for Non-acceptance or Repudiation 






a. Measure of damages is difference between market price at the time and 





place for tender and the unpaid contract price






b. Plus any incidental damages






c. Minus expenses saved because of the buyer’s breach




vii. Hard to determine the market price for lumber so court allowed the resale 




price to be evidence for the market value  





viii. P also wanted to obtain other damages: cost of refinancing, transportation 




costs, and loss of logging time




ix. There is no provision in the UCC for seller to get consequential damages, but 




can get incidental damages




x.  Incidental damages: any reasonable charges or expenses incurred in stopping 




delivery, in the transportation, care and custody of goods after the buyer’s breach, 




in connection with return or resale of goods or otherwise resulting from breach




xi. Consequential damages: do not arise from scope of the buyer-seller 





transaction, but stem from losses incurred by the non-breaching party in its 




dealings, often with third parties, which were a proximate result of the breach, and 



which were reasonably foreseeable by breaching party at the time of contracting 





xii. Court held that loss of logging time was essentially loss profits from another 




transaction: could not recover because was consequential and not incidental



b.  “Lost volume” seller may recover lost profits: Commodore 




i.  P sold 900 electronic scales to D, but D accepted only 50 of them





ii. P then sold the remaining units to another customer




iii. Damages could be determined by difference between contract and resale price




iv. Other method is difference between contract price and market price




v. Contract price: $100, resale price: $95, market price: $96, cost: $90, profit: $10





vi. Since P resold, P could recover $5/unit rather than $4/unit




vii. Resale price was lower than market price, but court allowed seller to recover 




the greater amount because want the “wheels of commerce” to keep moving





viii. P also wants to get loss profits: need to establish is “lost volume” seller




ix. UCC 2-708 Seller’s Damages for Non-acceptance or Repudiation 






a.  (2) - If measure of damages in (1) is inadequate, then measure is profit 





(including reasonable overhead) which seller would have made from full 





performance by the buyer






b.  Also get incidental damages and due allowance for costs reasonably 





incurred and due credit for payments or proceeds of resale      





x. P argues the resale price is inadequate because would have sold those 850 units 




to the customer anyway: it would have had two sales instead of one




xi. Says is “lost volume” seller: had enough production capacity to meet D’s 




purchase and other customers’ purchases at the same time






a. Claims the 850 units were not a resale but an ordinary sale






b. Need to show that the sale to the third party would have been made 





regardless of the buyer’s breach  





xii. Court found that P had manufacturing capacity to make much more than 850 




units: was “lost volume” seller so received lost profits - $10 times 850 units



c.  No obligation to enter market if there is no market: Cornett 




i. P contracted to sell nine loads of potatoes to D at $4.25





ii. D refused further deliveries when market price dropped to $2.00  





iii. P did not resell so damages would be difference between market price and 




contract price: $2.25




iv. P claimed the damages were inadequate so wanted to recover under 2-708(2.  





a.  Because the market was saturated with potatoes, would not be able to 





sell them at the market rate: it would keep dropping






b. By the time P resold D’s potatoes, market price would drop so low that 





P would not be able to sell their other potatoes




v. Court held that P could sell other potatoes first and then resell D’s potatoes  





vi. Implicit in 2-708(1) that there must exist a market and also there must be a 




legal obligation to enter it





vii. Unless there is both a market and an obligation to enter it, subsection (1) 




damages are inadequate and seller may seek redress through subsection (2)




viii. No legal obligation to enter market if would ruin market for rest of goods




ix. Court awarded P full contract price: effectively saying the market price is $0



d.  Must timely notify seller of defects to recover for breach of warranty: Yazoo 




i. P manufactured lawnmower bags for D, but most were defective





ii. D sent back a few to P, but never informed him of extent of the problem 
.  



iii. Injured party has option to cancel the contract: available remedy is rescission 




and restitution: P would give the money back and D would give the bags back




iv. But, D cannot rescind contract: once D accepted bags, became liable for price




v. UCC 2-709: Action for the Price






a. Once goods are accepted, give up right to rescission and restitution






b. Can still recover damages for the breach if the goods were defective: 





difference between value of goods as is and value as warranted




vi. D was not entitled to damages for breach of the warranty






a. Failed to give P adequate notice of the defects






b. Instead, D accepted bags and told P it would continue to sell them




vii. UCC 2-607






a. If buyer accepts goods and finds they are defective, needs to give timely 




notice to seller of the breach of warranty






b. If do not give adequate notice, then are barred from remedies  






c. Otherwise, seller thinks goods conform and continues to make them 





viii. Because of the lack of actual notice, D was not able to get any damages and 




was stuck with the bags  


C.  Land Sales Contracts



1.   Liquidated damages limit recovery of actual damages: Southeastern Land Fund



a. B tried to purchase land from S and paid “earnest money”: is deposit at time of offer




b. B breached the sales contract and S wanted damages



c. Normally, want difference between contract and market price plus incidental damages



d. Because of difficulty in determining damages, many contracts contain “liquidated 



damages” provision: “agreed damages” determined ahead of time



e.  Court said earnest money could be either:





i.  Prepayment of actual damages (difference between contract and market price): 




any amount above actual damages would be given back to buyer





ii. Partial payment of purchase price if get specific performance






a. Since land is unique, party can usually get specific performance






b. Seller would keep the money and deduct it from the purchase price





iii. Liquidated damages






a. Seller would keep entire amount even if actual damages are less






b. If actual damages are more, cannot sue for the additional amount




f. Requirements for liquidated damages to be enforceable:




i. Damages are uncertain or difficult to prove





ii. Liquidated damages are intended to be fair compensation: not penalty





iii. Amount bears reasonable relationship to anticipated damages




g. In making determination, look at the time of contract and not at the time of breach



h.  Court found that the earnest money wasn’t even liquidated damages at all  




i.  Sometimes the contract will be clear if money was meant as liquidated damages: look 



at the contractual language



j.  Contract said “earnest money” was partial liquidation damages: it reserved the right to 



seek additional damages





i.  Was not actually liquidation damages: cannot get partial liquidation damages  




ii. The provision was actually a prepayment for damages



k. If liquidation damages, then is agreed amount of actual damages and cannot get more 



l.  MUST intend to be bound by the amount regardless whether actual damages end up 



being more or less



m.  Liquidated damages only limit actual damages





i. Do NOT prevent other remedies





ii. Can get the liquidated damages and then also seek an equitable remedy




iii. Ex.  When have contract for real estate, seller can still get specific 





performance unless liquidated damages provision says it is the exclusive remedy  


2.  Breaching party can get restitution if injured party was unjustly enriched: Vines



a. B purchased condo from S for $80k and made a 10% deposit




b. B breached the contract, but wanted his deposit back




c. Deposit for residential real estate is often treated as liquidated damages, but are not the 



same: either can be present without the other



d. If S sued for breach of contract, would not get any actual damages





i. Deposit was liquidated damages so would only get that amount





ii. Plus, price of the condo had increased to $160k so S suffered no harm  




e. Problem is that B was the breaching party, but wants a remedy from the court





i. To get remedy, need to have cause of action and win it





ii. As the breaching party, B did not have a cause of action





iii. Narrow exception: breaching party CAN sue for restitution if injured party has 



been unjustly enriched  




f.  B could attempt to get money back by saying liquidated damages were unenforceable  




i.  Damages were uncertain since real estate market fluctuates greatly





ii. 10% would be fair compensation for the breach and not a penalty





iii. Amount also bears a reasonable relationship to the anticipated damages





iv. Thus, the provision was enforceable



g.  B could attempt to get restitution of liquidated damages by showing that breach 



caused seller no damages or that damages seller incurred are less than buyer’s damages 



h.  Our standard for final:  if purchaser can prove that the injured party suffered no 



damages at all, then is unjust for the seller to keep the liquidated damages and should 



restore the money to the purchaser



i.  Would need to show that at the time of breach, the real estate increased enough to 



cover any expenses or losses


3.  If deficient title, can get expectation damages: Donovan



a.  There was deficient title so S could not convey property to B




b.  B then went and purchased different property



c.  If sell property without good title, there is breach of contract



d. B wanted interest rate difference, deposit (restitution) and survey/title search costs 



(reliance) back: interest rate is a benefit of bargain (expectation damages)



e. Under NJ law, buyer could not get expectation damages





i.  Could not get difference between market and contract price





ii. Followed “English rule”: buyer can recover deposit and expenses incurred, but 




not more than nominal damages for loss of bargain





iii. Get restitution and reliance damages but cannot get expectation damages





iv. If seller cannot convey title in good faith, then English rule applies





v. If seller conveyed in bad faith, then get expectation damages under English rule



f. Because assuring good title is easier now, court decided to adopt the American rule





i. Get same damages as with any other case





ii. Can receive expectation damages  




g. Court allowed B to get difference in the interest rate along with their other damages


4.  Mortgage interest rate applied over expected time owning the property: Stratton 



a. B wanted to purchase house from S, but the deal fell through




b. Was awarded specific performance: closing went through year after it was supposed to



c. Needed to readjust the equities: put the parties in the position they would have been if 



it had gone through on time



d.  B had lost the use of the house for a year and interest rates on mortgage had changed



e.  Can determine lost use by the equivalent rental value for the year



f. S lost the use of the purchase price for a year: would need to determine interest rate 



would have obtained on the money



g.  Increased interest rate on mortgage is not part of the adjustment of the equities: is 



expectation damages





i. Does not matter who breached in determining adjustment of the equities





ii. But, buyer can only be given difference in interest rate if the seller breached



h. CA Supreme Court decides not to determine the expectation damages by applying the 



difference in the interest rates over the term of the loan



i. Instead, need to apply the difference over the amount of time the buyer is planning on 



staying in the house




j. Trial court needs to factually determine how long the buyer will remain in possession
XI. Tort Damages


A.  Harm to Personal Property



1.  Cap on cost to repair is reduction in FMV: Barge Bertie



a. P’s rusted barge was hit by another barge and dented




b. Because the dent did not lower the market value, the trial court awarded nominal 



damages: damages where there is no injury



c. Appellate court held that P should have gotten the cost of repair



d. For “total destruction” of personal property, give FVM of it right before the injury



e. For “partial destruction” of personal property, give cost of repairs plus lost use if 



physically and economically feasible





i. Decide if economically feasible by capping repair at a certain amount





ii. Cost to repair can NOT exceed the fair market value before the injury



f. Other jurisdictions (CA), cap the cost to repair at the reduction in the market value: is 



difference in market value before and after the injury



g. Dissent





i. P is not going to spend the money repairing the dent: is just going to pocket the 




money as a windfall





ii. Remedies are not supposed to give a windfall


2. Use NY rule for fluctuating asset: Roxas



a. Facts





i. P was treasure hunter and discovered buried Japanese WWII treasure





ii. D sent gov’t officials to confiscate the treasure





iii. Later, D was deposed and fled to Hawaii where P sued him for conversion



b. Usual remedy for conversion





i. Might be able to get restitution of the property





ii. Otherwise, get fair market value at the time of conversion  





iii. Problem is that gold has a fluctuating market value



c. Inflation is not enough to make an item a fluctuating asset



d. P wants to get the highest market value of the treasure from the time of conversion to 



the time of judgment



e. Court adopts New York rule for fluctuating assets: P is awarded the greater of:





i. Market value at the time of conversion OR 





ii. Highest market value between the date on which P learned of the conversion 




and a reasonable time thereafter




f. Reasonable period of time: determined by time reasonably necessary to replace it 




i. Depends on the nature of what was converted





ii. Some items will easier to replace than others: Ex. Gold bars v. golden buddha   




g. Date when P learned of the conversion matters





i. Usually, if something is stolen, need to replace it





ii. If asset greatly fluctuates, need to reimburse P for the amount spent to replace 




the commodity





iii. Also, if did not notice was missing, then did not intend to sell the property 




during this period so should not receive FMV for that time  




h. P received damages for the stolen treasure




i. Could not receive damages for the treasure he had left in the tunnel: was too 




speculative as to amount, but might have had a chance if had taken photos


3. For household goods, receive actual value to owner: Lane 



a. P sued D for fire damage to their house and belongings



b. Household items (non-commercial goods) are valued differently: Ex. Furniture



c. Normally, personal property is valued by FMV at time of the loss



d. FMV is not good compensation for household items





i. Most people do not want to purchase household items from a second-hand store 




ii. Undercompensates because most people want to buy new to replace the items



e. P argued for the replacement value of the items: cost to purchase new items
 



i. But, replacement value overcompensates P





ii. Most household items aren’t brand new but have been used for a period of time



f. Court adopts a middle standard: actual or extrinsic value to owner




g. Is not subjective standard: does not look at sentimental value



h. P can offer testimony as to worth: must establish grounds for their opinion





i. Can offer evidence to how much a new substitute would cost




ii. Original cost for item is also relevant  




i. D would offer evidence as to the fair market value  




j. Depreciation, age, wear and tear, condition, cost of replacement, and cost of repair are 



all factors to be considered: jury considers all the factors and awards an amount


4. Sentimental value is not considered: Landers



a.  P was growing weed: police confiscated many items, including photos and videos  



b. Later, they were destroyed without notifying P



c. P wanted to receive the emotional and sentimental value of the photos and videos as 



part of the actual value to him



d. Fair market value of the items would be practically zero




e. Replacement value





i. Could be very expensive





ii. Ex. If lost photos of vacation, have D send you on vacation to retake them



f. Court refused to consider the sentimental value as a factor





i. Too speculative to determine an amount





ii. Could be extremely high if you consider the item irreplaceable 




g. Court gave P the cost of purchasing new film and videotape  




h.  Some courts have considered sentiment as part of the actual value to the owner if it is 



the sort of item that the average person would be sentimental toward: Ex. Yearbook 


5. Need to offer evidence to value items: Taliferro



a. P was beaten by police and his possessions were taken and destroyed




b. Most important item was manuscript about white oppression




c. Jury awarded $47k in compensatory damages for lost manuscript



d. P had offered no evidence as to the worth of his manuscript





i. Number had been pulled out of nowhere





ii. Lawyer’s argument is not evidence as to amount



e. P should have presented evidence to give a value to the manuscript





i. How long it would take to reconstruct it and how much the materials cost





ii. Would need to determine the number of hours to rewrite it and how much each 




hour is worth





iii. P could offer evidence of the market rate of an average writer





iv. Also, might show how much money the manuscript would have sold for: could 



offer evidence as to the market rate for similar manuscripts





v. Would be easier to determine figure if P already had a track record as a writer



f. Court holds that the $47k was too much





i. Said $25k is reasonable: funny because court pulled this number out of nowhere  



ii. P can take that amount and remit the rest





iii. If P thinks can offer evidence to support the higher amount, P can reject the 




lower amount and take a new trial 





iv. In some circumstances, a court will raise the amount and tell D can pay that 




amount or P will get a new trial


6.  Can get lost use damages if property is destroyed: Long



a. Car was damaged beyond repair: P wanted fair market value and lost use damages



b. If personal property can be repaired to original condition:





i. Get cost of repair plus lost use damages for time of repair





ii. Cost to repair cannot exceed the difference in FMV before and after the injury  




c. If personal property cannot be repaired to original condition:





i. Damages are the difference between the FMV before and after the injury





ii. Plus lost use of the property for time to repair or replace it



d. If personal property is completely destroyed:





i. Get FMV before the injury occurred and reasonable lost use damages for the 




time necessary to replace it





ii. Use for all personal property except for non-commercial items and items with 




fluctuating value  





iii. If property has salvage value, need to deduct that amount from the damages

B.  Harm to Real Property  



1. Cap on damages to real property is FMV before the injury: Miller



a. P’s farmland was damaged when salt from D’s mining leaked into the groundwater  



b. Could only grow wheat and not corn: corn produces more money



c. D claimed the SoL prevents the claim





i. SoL begins (accrues) when the cause of action matures: all the elements for the 




action are there





ii. SoL stops once the lawsuit is filed



d. If injury is permanent, then SoL accrues when the injury becomes permanent





i. Temporary injuries can become continuous to the point of irreversibility: can 




become permanent over time





ii. But, is usually one time injury





iii. Ex. Explosion on the land 




e. If injury is temporary, then SoL accrues with each injury





i. Is usually series of injuries that can be abated





ii. Ex. Loud noise from neighbors is a nuisance that can be abated





iii. New cause of action accrues every time the injury occurs  




f. Can only recover for past injuries that occurred within the SoL period





i. For future injuries, can only get damages up until time of judgment





ii. To recover for further injuries, would need to bring additional lawsuit: would 




wait until end of SoL and then could recover damages during that time



g. For permanent injury, damages are the difference in FMV before and after the injury 




i. Get reduction in value because land is always worth something





ii. Amount awarded will be the total recovery: cannot sue again later if discovery 




additional damages       




h. Court found that the pollution of the groundwater was temporary: could be abated if D 



stopped leaking salt  




i. For temporary injury, damages are often the reasonable cost to repair the property



j. Court gave the difference in amount of money would have gotten if had grown corn 



instead of wheat: was basically a way of measuring lost use  




k. Usually, measure lost use of real property by fair rental value of the property, but is not 


the only way: lost crop yield was another way 



l. Most jurisdictions have a cap on damages: use this rule





i. FMV of the land before the injury




 
ii. There is no cap on lost use damages



m. To encourage D to stop polluting, gave P punitive damages: retained jurisdiction and 



would lessen the amount if D fixed the problem 


2. Repair costs may be awarded if genuine desire to repair for personal reasons: Louisiana Gas



a. Facts





i. P bought apartment complex to house the poor





ii. D’s equipment malfunctioned and caused a fire




iii. P wants the cost to restore the complex





iv. Trial court said cost of repair was greater than reduction in FMV so did not 




give costs to repair



b. If cost to repair is more than reduction in value, some people would pocket the money 



and get a windfall  




c. If only get reduction in value and do want to fix the property, need to spend own 



money to repair it or sell the property to become whole



d. Court looks to see if have personal reason to restore the property





i. Makes it less likely that party will keep the money and get a windfall





ii. Personal reasons are non-commercial: not driven by profit





iii. Cost to repair can also not be disproportionate to the value of the property



e. P has personal reason for wanting to restore property: to provide low income housing



f. CA rule for final:





i. To recover damages for harm to real property, must prove reduction in the 




property’s value or the reasonable cost of repairing the harm





ii. If there is evidence of both, are entitled to the lesser of the two amounts:  




reduction in value is a cap on the cost to repair  





iii. But, if P has a genuine desire to repair the property for personal reasons, and if 



costs of repair are reasonable given the damage to the property and value after 




repair, then costs of repair may be awarded even if exceed the loss of value



g. Reason for this rule is that it’s difficult to replace real property


3. Damages for lost trees is FMV at time of taking unless have special purpose: Laube



a. Facts




i. D cut down some walnut trees on his farm before possession passed to P




ii. Trial court awarded P the current value of the trees




iii. P claimed the trees would have been worth more if they had been allowed to 




grow for a longer time



b. Some trees are worth more than their value as lumber





i. Ex. Ornamental, shade, wind-break trees





ii. Look at difference in value of land with and without trees to award damages



c. The walnut trees were not ornamental, but being grown for lumber



d. Measure of damages is the commercial market value of the trees at the time of taking  




e. Professor says might make argument to look at the actual value of the trees to owner: 



would look at replacement costs, depreciation, etc. 




f. Can sometimes get replacement value if feasible to replace: Ex. Can buy little trees


4. Can consider aesthetic value of trees and willfulness in taking of minerals: Knuppel 



a. Facts




i. D leased gravel bar to 3rd party, but P had already gained ownership to it 




through adverse possession




ii. During the taking of the gravel, a pine tree was destroyed





iii. Trial court awarded $1,500 in aesthetic value of tree




b. Court said can consider the aesthetic value, but reduced the amount because there was 



no evidence to support it





i. P could have asked witnesses to set an amount for the aesthetic value: jury 




would decide whether to accept it  





ii. Aesthetic value might be another way of giving the value of the property with 




and without the tree



c. P also wanted damages for the gravel



d. Two ways to value minerals:





i. Value at surface





ii. Value in place




e. Value at surface is higher than the value of items in the ground: difference in value 



depends on the extraction costs



f. Value that get is determined by motivation





i. If willful trespasser, then pay damages for value at surface





ii. If non-willful, then pay for value in the ground





iii. Is almost like awarding punitive damages  




g. D thought the gravel was on his property so he was non-willful trespasser 




h. Determine value at surface by looking at market value
  


i. Can determine value in ground by value at surface minus extraction costs  





i. Alternative is by the royalties paid: gives lower value than other method 





because the third party extractor is allowed to keep its profits





ii. Use royalty measure where party paid royalties or is likely to pay royalties 




because can’t extract the minerals himself 


5. If environmentally sensitive land, may look at discounted market value: Chenega Corp. 



a. Exxon Valdez crashed off Alaska




b. P sued for injury to their land: used it for hunting and fishing



c. When determining damages to the land, first look to see if temporary or permanent 



injury: not clear what type of injury this is  




d. P might ask for cost to repair the land or the reduction in market value: since 




restoration costs were high would usually get in reduction in value




e. But with sovereign gov’t, reduction in value doesn’t work that well because can’t go 



out and buy similar land: this was the Inuit’s ancestral land



f. For the lost use damages, usually measure by rental value: rental value of vacant 



environmentally sensitive land would not be very much so would undercompensate P  



g. Instead, P had experts value the worth of the land to conserve it in its natural state  




i. Used a hypothetical income stream by looking at a percentage of the FMV 




ii. Calculated the discounted market value: is an alternative to using rental value 


6.  Environmental damage where not private party




a. If limit sovereign gov’t to reduction in market value, undercompensate it




b. Unlike a private party, gov’t cannot walk away and buy other property: must clean up 



the damage



c. Where sovereign gov’t, do not set a cap on the restoration damages




d. Give the cost of repair, but not a grossly disproportionate amount 




e. Need to consider how much the gov’t will likely spend to restore the land and how 



quickly nature will repair itself

B. Personal Injury Damages



1. Always discount money paid now for future expenses or earnings: Frankel 



a. 19 year old girl was hit by a gov’t vehicle and suffered severe debilitating injuries 




b.Wanted past medical expenses, future earnings, pain and suffering, future medical costs  




c. Past medical expenses are easy to prove: just bring the bills into court



d. Lost earning capacity: court looked at how well P was doing in school and if she was 



likely to graduate





i. Calculate lost future earnings by looking at how much a person in her 





profession would have earned and how long she would have worked





ii. P wanted to be commercial artist: likely earn $5k a year for a total of $125k 





a. Only compensated her until age 45 because assumed she would have 





gotten married and only worked for 25 years






b. Courts would be very unlikely to assume this today  





c. Might also take into account if would die early or be unable to work 





after a certain age  





iii. Court did not take into account inflation rate and increases in salary due to 




raises: this severely undercompensated P  





iv. But, court did discount the $125k to present value of $62k  






a. If using money in immediate future, do not discount  





b. If surgery is in ten years, then need to discount the amount for ten years 




e. Pain and suffering: received $650k





i. Some courts distinguish between actual pain and suffering damages and the lost 




future enjoyment of life (hedonic damages): for final, combine the two types




ii. Do NOT discount pain and suffering damages to present value 





iii. Gov’t argued that the amount should be reduced: said she couldn’t feel pain or 




not enjoy life while in a coma 





iv. There was evidence that P had some level of consciousness: responded to 




painful stimuli and members of her family 





v. Since it is unclear whether people feel pain while in coma, courts often make 




presumption in favor of injured party



f. Future medical expenses: major cost was to institutionalize P in a private hospital  




i. Calculated the amount by the average life expectancy times the cost per year  




ii. Might make argument to increase or decrease life expectancy by factoring in 




gender, ethnicity, and lifestyle: Ex. smoker 





iii. P wanted court to take into account medical cost inflation






a. Court held that inflation was speculative and that it was likely for 





inflation to be controlled in the future






b. Because of this, P was again undercompensated




iv. Discounted the amount awarded to present value: always discount money paid 




now for future expenses or earnings 





v. Court only awarded medical expenses for thirty years: assumed she was going 




to die early because of her injuries






a. Would be windfall if awarded medical expenses for average life 






expectancy and she died early 






b. Most courts do not award damages to compensate for shortened lifespan



g. Traditional way to award damages is to give all the money at once





i. Gov’t wanted the award to be given in lump sum payments





ii. Wanted to put the money in a trust fund which would make periodic payments 




iii. One advantage of trust fund for P: if dies early or recovers fully, then she gets 




to keep all the money





iv. If P lives longer and the trust fund runs out, then gov’t can replenish the fund  




v. Court didn’t do the trust fund because it would have to supervise it



h. Periodic payments are very common in settlement process: structured settlements





i. In CA, if award is over $50k and parties request it, then give periodic payments 




ii. Benefit of periodic payment is that prevents people from squandering all the 




money at once 





iii. If P dies young, then money goes back to D





iv. If P lives long time, then D keeps making payments 





v. System has been undermined by companies who purchase periodic payments in 



exchange for lump sum: solution is to put anti-assignment clause into the award 



2. Is difference between lost future earnings and lost earning capacity: Wilburn



a. P was swept overboard by storm: suffered physical damages and PTSD 




b. Wanted lost future earning capacity and pain and suffering damages




c. Earning capacity was diminished: could not become captain because of his PTSD



d. Difference between lost future earnings and lost future earning capacity:





i. Lost future earnings






a. Are temporary






b. Compensate for loss of earnings from time of trial until some point in 





the future when the P will be able to return to work 





ii. Lost future earning capacity






a. Are permanent






b. Measured by the reduction in value of the power to earn






c. Market value of the person’s services are diminished 




e. Need to discount the amounts to present value  




f. There can also be tax implications: some awards will be taxed while others are not



g. Jury awarded $1 million in lost earning capacity damages: court found there was no 



evidence to justify the award 


3. Need to deduct expenses avoided because injury: Athridge



a. P was severely injured 15 year old




b. Expert calculated the probabilities that he would have graduated high school, college, 



and professional school




c. Lost earning capacity was awarded based on the difference between his earning 



capacity at low wage jobs and a weighted average of his projected income at each of the 



three potential education levels 




d. Need to deduct the costs avoided because of the injury: Ex. Deduct the school 




expenses he would have spent to attain the degrees 


4. Difficult to find whether injury will be permanent: Healy



a. P was 7 seven years old and injured in car crash: suffered seizures



b. When have possibility of future medical problems, difficult to decide whether they will 


continue or will be successfully treated 




c. Jury needs to decide by preponderance of the evidence whether the injury is permanent 


or will go away



d. Jury awarded half of the amounts asked for by P





i. Seemed that the jury couldn’t decide whether it was more likely or not that the 




illness would continue





ii. Improper for a jury to make a compromised verdict, but is difficult to prove 



e. Court held that there was sufficient evidence so it was justified for the jury to find that 



the seizures were permanent



f. Another difficulty can arise in determining if P will develop a future medical problem 



because of an injury




i. Ex. Will P get cancer in future because of present exposure to toxins? 





ii. Some jurisdictions will relax the SoL and take a wait and see approach: toll the 




SoL until P actually develops the illness 




g. When a minor is injured, typically the minor and parents have separate claims





i. Parent can recover for medical costs while P is a minor





ii. Minor can recover future medical costs that are likely to take place and also get 



lost future earnings


5. Can use per diem calculation to determine pain and suffering: Debus 



a. P was in store and boxes crashed onto her



b. D complained that jury amount was too high



c. Issue: how do you decide the proper amount of damages for pain and suffering



i. Typically judges leave matter for jury, but do give some guidelines



ii. Award must be fair and reasonable 




iii. Some additional limits involve what type of evidence can look at and type of 



argument that can make




d. Sometimes can allow jury to consider expert testimony




i. Fair and reasonable is broad standard so jury needs guidance




ii. Can use expert testimony for question of: 









a. Whether P is suffering (medical condition)







b. Amount of suffering 




c. How much will continue to suffer




iii. Medical expert is NOT allowed to put a dollar figure on the suffering 




e. Parties also try to use economic experts




i. Attempt to come up with dollar figures 




ii. Interview people: ask how much have to pay them to suffer the injury


iii. Might also look at how much willing to pay in insurance: Ex. if don’t have life 

insurance then is evidence that don’t value life very much 



iv. Usually this sort of expert testimony is not permissible: gets to the amount of 


the dollar figure might put on pain and suffering


v. But, dollar amount is for jury and not the expert to decide

f. Some lawyers argue some sort of formula or per diem formulation 





i. Ex. How much do think it is worth to be in this pain for just one day 





a. Assume it is $10/day 





b. P is 20 and likely to live to 75: multiply 55 years by $10/day



ii. Jurisdictions are split on whether per diem formulas can be used



a. Arguments in favor



1. If can make lump sum argument, then why not per diem



2. Can just take lump sum and divided over days expected to live 



to get per diem


b. Counterargument




1. Lawyers are pulling numbers out of their hats




2. Creates an illusion of some sort of certainty 




3. Using these formulas will inflate the award and make it much 



higher than it is likely to be 
g. Court held that it is permissible to make a per diem calculation
h. For exam, lawyer can make per diem argument and jury is free to use it to determine how to set a number on pain and suffering


6. Loss of consortium is divided into economic and non-economic loss: White Construction



a. Facts




i. D was run over by truck and sues for his injuries: received award of $1 million 



in compensatory damages for pain and suffering and lost earning capacity 




ii. Wife also brought her own lawsuit for loss of consortium: received $1 million


b. Issue is whether the award for loss of consortium was valid



c. Often when one person is injured, another person is injured as well



i. May not be able to work around the house



ii. May not be able to go on trips



iii. Affection and sexual relations may decrease 

d. Traditionally



i. Husband could recover loss of consortium if wife injured




ii. But wife couldn’t recover for loss of consortium if husband injured because 



married women could not sue 




e. Loss of consortium divided into two elements




i. Intangible




a. Can’t touch them 




b. In CA, is called non-economic losses



c. Includes: love, affection, sexual relations, companionship, etc




d. Much harder to measure: can’t really hire someone to do this so have 



less precise calculation 




ii. Tangible 




a. CA calls them economic losses



b. Includes: support and services 



c. Generally are services around household 




d. Measurement of economic/tangible losses




1. Services: look at how much would cost to hire someone to do 



those services 




2. Support




a. Look at how much money the injured spouse was 




actually paying to support the household




b. Not just income




c. Have expenses so deduct own expenses




d. Look at what is being paid by the injured person to help 



support the household 



f. Reviewing court has to look at the numbers to see if they are supported by evidence 



g. Court found that intangibles alone did not support the $1 million award 


i. Husband was 55 so probably only live 20 years more


ii. Different from young married couple where married for only 2 years: there 
wife has lost out on 50 years or so of companionship 



iii. Look at quality of relationship: Ex. Were they fighting all the time?

h. Court also found award was not supported by tangible evidence


i. Presumably husband was providing support to the household 


ii. Some of his earnings ended up being used as support for the household: wife 
can claim this

iii. But, husband already recovered his $1 million award that compensated him for 
his lost earning capacity  


iv. If give wife support the husband would have given would be double recovery 
so no justification for wife’s award based on support



v. There was also very little evidence of services 


vi. Have to provide evidence of services if want to get award for it: there was no 
evidence that husband did anything 


vii. Need evidence that doing things around house: Ex. Mowing lawn, 
barbequing, fixing things, etc


C. Injuries Resulting in Death 



1. When a person is wrongfully killed can logically divide injury into two categories and 



the losses that are likely to suffer (may not be compensated for all)




a. Injury to the decedent (person who died) 




i. Medical bills/expenses: deceased’s estate will be liable for med bills and 


funeral bills




ii. Pain and suffering: if wrongfully killed will likely to have



iii. Hedonic damages/shortened lifespan: enjoyment of future life




iv. Lost earnings or earning capacity




a. Divide this and past lost earnings




b. Refer to earnings between time of injury and time of death when 


hospitalized before die because of the injury 




c. Past/future earnings: estate losses future earnings would have 



made had you not been wrongfully killed




b. Injuries to other people 




i. Medical expenses: relatives might be liable for medical expenses if 



estate doesn’t cover it




ii. Grief at the fact that person has died



iii. Bystander liability 




a. If your friends/relatives saw what happened



b. Ex. Mom w/kids in front lawn, sees her kid get run over 

 

iv. Consortium claims



v. Support 




a. Loss of support and services: separately considered from 




consortium




b. Ex. support Mom provided to family if a M is killed 




vi. Loss to the employer or place of work




a. If person who was killed is an irreplaceable employee or 




important to success of company: Ex. CEO



b. Would be broad compensation so usually cannot get this



c. If company is concerned can buy key man insurance 




vii. Loss to the community




a. Especially if person was a positive influence in the community




b. Don’t get compensated for this: too attenuated and broad
2. Wrongful death damages are allowed: Moragne 




a. Facts





i. Sailor was killed off territorial waters so was within jurisdiction of 





federal maritime law




ii. Under this law, was an old case which held there was no cause of action 


for wrongful death 




iii. Was situation in every jurisdiction: under common law was no 




recovery for wrongful death 




a. Creates perverse incentive to kill someone if injured severely 




b. If severely injured could recover, but could not if died

b. Rationale for common law rule: impossible to calculate the value of a life



i. But with wrongful death awards are not trying to value a person’s life



ii. Trying to put a dollar figure on the loss that that person’s death has 


caused to the estate or surviving relatives 

c. Supreme Court held wrongful death damages are allowed under maritime law



3. In just about every state today wrongful death claims are allowed by statutes 





a. Statutory nature is important because just about every one is different



b. Creates large difference in who can recover and what can recover for



4. Basic elements and distinctions 




a. Claims that estate can make on behalf of the deceased: permitted if the state has 


a survival or survivorship act




b. Claims that can be made on behalf of others who have suffered by the death 




5. Survival Action: estate tries to recover for injury to decedent 



a. Have to be alive to bring lawsuit: if are killed have no standing for lawsuit




b. Survival actions stipulate that certain categories of claims survive the death of 



the decedent: proscribe who can bring the claim on behalf of the decedent 




6. Wrongful Death: claims brought by others 



a. When someone is killed, closely related family members might suffer losses 



and they have their own cause of action



b. Court don’t always make a careful distinction between the two




7. Some jurisdiction only have one kind of act, but some have both


8. CA allows both Survival and Wrongful Death actions


a. Survival statutes




i. §337.20(a): cause of action survives person’s death




ii. §337.30: specifies who can bring survival action if person has died




iii. §337.34: lists what damages are recoverable




a. Are only entitled to loss or damage before death 




b. Doesn’t include damages for pain, suffering, or disfigurement

 


c. Estate can recover:



i. Medical expenses before death




ii. Lost earnings between time of injury and time of death 



d. Can also recover




i. Any tort or contract cause of action that might have had 



before died: these generally survive 




ii. Ex. Car was severely damaged in injury that led to death





a. Can recover for cost to repair car because that is a 



past injury before your death 




b. If damage to car happens at same time of death 



because die instantly when get hit, estate can still 



recover for cost to repair car





iii. What if person is in a coma





a. While in coma are accruing lost earnings so 




allowed to recover for that 





b. What if keep person in coma to get lost earnings





c. What if have SoL problem, have to bring case 




and don’t know how long will live





d. Get expert testimony of how long will be in coma



e. Can NOT recover:



i. Decedent’s pain and suffering 




ii. Hedonic damages: fact that had shortened life because is 



future and not before death so can’t recover  




iii. Lost future earnings: also future so can’t recover
b. Wrongful death statute



i. §377.60: says who can assert wrongful death claims



a. Basic rule: spouse (includes domestic partner) or children 




b. Parent’s sometimes may recover for wrongful death of their kids




i. If they are entitled to the property by intestate succession




ii. If decedent does not have spouse or kids, parents can 



bring wrongful death claim




ii. §377.61: allowed to recover in WD action




a. Anything that may be just




b. But may not include damages that can be recovered under 377.4





i. No double recovery




ii. Ex. If survival action recovered for medical expenses, 



can’t recover medical expenses for wrongful death action




c. Can recover 



i. Medical expenses if liable for them and estate hasn’t 



recovered them under survival action




ii. Bystander liability: can recover for this but is a separate 



action that is not usually part of wrongful death suit 



iii. Loss of consortium




a. Can generally recover for intangible or non-



economic loss





b. Support or services provided by deceased to 




person bringing wrongful death claim




d. Can NOT recover 



i. Grief 




ii. Loss to employer or community 




iii. Bystander liability: recover for this in another action
9. Can kids recover for death of a parent?







a. In a Florida case, had grown child whose mom was wrongfully killed

b. Generally kids are able to recover for intangibles: loss of consortium



i. Moral guidance: teaching kids things and playing with them

ii. Have to present evidence to recover: grown child had to present 
evidence as to what exactly did with mom 

iii. Recovery also includes gifts: Ex if parents were wealthy and gave you 
so much money every year


c. Remember these are separate claims


i. Kids claims for wrongful death are separate from estate’s survival 
actions 


ii. But they are generally consolidated for judicial economy

10. CA jury instructions for wrongful death



a. P doesn’t have to prove exact amount, but jury cannot speculate or guess




b. Economic damages: future damages must be reduced to present value





i. Financial support would have contributed to family




ii. Loss of gifts or benefits that would have received 




iii. Funeral and burial expenses




iv. Amount paid, and reasonably certain to be paid in the future, to obtain





household services would have provided




c. Non-economic damages: is NOT reduced to present value





i. Loss of love, companionship, comfort, care, assistance, protection, 





affection, society, and moral support




ii. Loss of the enjoyment of sexual relations




iii. Loss of training and guidance




iv. Decide reasonable amount based on evidence and common sense




d. Can NOT compensate for the following:





i.  P’s grief, sorrow, or mental anguish




ii. Decedent’s pain and suffering




e. To decide life expectancy, may consider, among other factors:





i. Average life expectancy of person of that age






ii, Person’s health, habits, activities, lifestyle, and occupation
XII. Limitations on Compensatory Damages


A. Certainty


1. Must establish fact and amount of damages with certainty: Story Parchment 



a. D engaged in predatory pricing by selling goods below FMV




b. Determine damages by difference in price without predatory pricing and the actual 



price P got   




c. Problem in certainty arises in determining the price would have gotten without the 



predatory pricing



d. Two aspect to certainty:





i. Fact of damages: must be reasonably certain that damages resulted 





ii. Amount of the damages






a. Can be less certain since harder to establish






b. Want more certainty with contract damages






c. Less certainty required in torts because harder to determine damages



e. To determine amount, would look at the cost of production, what people were selling at 


before the predatory pricing, etc.



2. Contest or prize damages are too speculative to be awarded: Youst 



a. D intentionally bumped P’s horse to prevent him from winning a race




b. P wanted damages of difference in prize money between his actual finish and finish 



would have gotten without D’s interference



c. Fact of damages is clear here: lost the opportunity to do better



d. Amount of damages could not be proven with any certainty: was too speculative as to 



where P would have finished



e. American rule: per se rule that when dealing with contest or prize, amount is too 



speculative so not entitled to any damages



f. Exception may exist when P is so far ahead of the competitors that almost certainly 



would have won



g. English rule





i. Assume all competitors have equal chance of winning and then award that 




percentage of the prize





ii. Ex. If 12 people, get 1/12 of total amount of prize money


B. Avoidable Consequences


1. Cannot increase damages by refusing to mitigate: Rockingham County



a. Facts




i. D hired P to build bridge





ii. Repudiated the contract after P had just started: no longer needed the bridge





iii. P kept working and wanted full contract price after finishing it



b. Assume contract price was $100k and costs were $90k: P would have made $10k profit



c. If P hadn’t started bridge, would get contract price minus costs avoided of $90k: would 


get $10k in damages



d. Thus, either way would have gotten $10k profit 



e. But, P kept working and didn’t mitigate the damages



f. After breach, cannot increase damages by refusing to mitigate



g. Mitigation involves “efficient breach”: party should be able to breach the contract 



without being punished with unnecessary damages



h. Because P kept working after receiving notice, can’t get damages for full performance  


i. Only got restitution for costs spent before the repudiation and the lost profits 



2. For goods, UCC allows seller to finish making goods if market exists




a. Want economic efficiency




b. Is mitigation of costs by completing the contract 


3. Have affirmative duty to seek other employment to mitigate damages: Parker 



a. Facts





i. P was to star in musical production





ii. D notified her they weren’t going to make the film





iii. Instead, D offered her a role in a western movie



b. P wanted expectation damages: amount would have received for making the musical 




c. D claimed that P did not mitigate the damages by accepting the western film role



d. Any money she could have made working during the period of service would be 



deducted from her expectation damages



e. General principle: have affirmative duty to seek other employment to reduce damages 



f. Have to take steps that would ordinarily take to find work



g. Need to make reasonable effort to find similar employment 




i. D must show that other employment was comparable, or substantially similar, 




to that of which employee was deprived





ii. Cannot be different type of work or inferior



h. Court found that the western movie was not comparable employment so did not have 



to take it to mitigate





i. Was to be shot in Australia rather than LA





ii. Would not showcase her musical abilities





iii. Lost control over movie direction and script  




i. Suppose get job in entertainment law: are fired and then offered a job in tax law 





i. Unclear if need to take it to mitigate





ii. If have no experience in tax law, probably would not need to take it





iii .Also, if in different city, are not required to move to mitigate


4. D must raise mitigation as affirmative defense and offer evidence: Garcia



a. P was hit by cart in Wal-Mart and suffered back problems so couldn’t run her business



b. D claimed she didn’t mitigate by hiring someone to help her or getting another job 



with no lifting and that jury should have been instructed about this 




c. Problem arose because D did not object to the lack of jury instruction: is a waiver of 



the objection.




d. Also, mitigation is an affirmative defense: D must raise the defense in answer to the 



complaint and produce evidence at trial to support the allegations



e. Because D produced no evidence, the jury award was upheld


5. May be required to undergo medical procedure: Lobermeier 



a. Facts




i. P was on telephone and had his eardrum ruptured when lightning struck the line  



ii. Claimed D improperly grounded the line   





iii. Had one operation, but the condition worsened so his doctor recommended 




additional surgery 




b. D argued that P didn’t mitigate his hearing loss by seeking the second surgery



c. Mitigation can also apply to personal injury cases




d. May be required to undergo medical treatment to reduce injuries



e. Traditionally, there was no duty to mitigate by undergoing surgical procedures



f. Current rule: would a  person of ordinary prudence and intelligence in similar 




circumstances have elected to undergo the procedure




g. If yes, then any avoidable damages must be deducted




h. Reasonableness in mitigation can take into account whether P is able to afford the costs  

C. Collateral Source Rule



1. If injured party receives compensation from source wholly independent from tortfeasor, such 


payment is not deducted from damages that P would otherwise collect


2. No exception to rule for public entities: Helfend



a. Facts




i. P was injured by bus and sued rapid transit system





ii. 80% of his medical bills were covered by his insurance




b. D claimed that P would get double recovery if it had to pay the medical costs




c. Wanted to deduct the amount covered by insurance from its liability



d. Insurance was independent from the transit system so P got to keep the insurance 



money and the damages from D



e. Since P paid premiums for insurance over the years, should be able to reap the benefits 



from the insurance: want to encourage people to buy insurance



f. But, insurance policies typically require subrogation or refund of payments made



g. Subrogation clause: gives insurance company right to take P’s place and sue to recover 


costs if P is injured



h. Another reason for collateral source rule is that attorney fees are deducted from the 



damages awarded so P would be undercompensated



i. CA Supreme Court held that collateral source rule should remain


3. If money comes from D’s insurance company, then deduct the amount from liability 



since is related/affiliated source


4. Issue arises when D is one gov’t entity and P gets money from another gov’t entity




a. Many courts ask whether the money comes from the same general fund or from some 



special source within the gov’t 




b. If comes from general source, then make deduction




c. If comes from separate fund, then do not make deduction




d. Ex. Medicare and veteran payments come from general fund whereas Social Security 



or pension benefits come from special funds

XIII. Punitive Damages


A. Entitlement and Proceedings



1. Punitive damages go beyond ordinary compensatory damages: called exemplary damages


2. Act as a deterrent to further conduct by punishing wrongdoer 



3. Can not be liable for punitive damages through vicarious liability: Brueckner



a. Facts




i. P was in enrolled in D’s military academy





ii. He dropped out after 16 days because of severe hazing by students and sued D 




iii. Jury awarded compensatory and punitive damages 




b. Court upheld the compensatory damages on basis of vicarious liability, but reversed 



the punitive damages



c. Vermont required showing of malice by D to award punitive damages: generally means 


ill-will, but can also include reckless disregard of rights and interests of others 




d. University had a policy against hazing and investigated reports of it: did not just sit 



back and let the hazing happen




e. If knew of the hazing but took no action, could have been reckless disregard




f. Because of its policies, university had no malice and punitive damages were improper  




g. Could not be vicariously liable for punitive damages for any malice of students: 



vicarious liability is only for compensatory damages
  


h. Employers can be held for punitive damages for actions caused by employees or agents 


if employer participated in the conduct, authorized the conduct, or ratified the conduct  



i. Ratification is consent or approval after action occurs 




j. Vicarious liability like situations where principal is liable for punitive damages 





i. Employee/agent is in a managerial capacity acting in course of employment





ii. Recklessly or negligently hires an unfit agent


4. Purpose of bifurcated trial is to avoid prejudice to D: Hodges



a. P was fired by his employer for being on jury duty for several months



b. In Tennessee, may award damages where D has acted either: intentionally, 




fraudulently, maliciously, or recklessly 




c. If D fired P to send example to other employees, then have intent to cause injury



d. If fired P because losing too much money, no intent to cause injury 




e. Court held that must have bifurcated trial for punitive damages




i. First stage: jury verdict whether D is liable for compensatory and punitive 




damages and decide the amount of compensatory damages





ii. Second stage: determine amount of punitive damages




f. Purpose of bifurcated trial is to avoid prejudice





i. Introduce evidence of D’s wealth in second stage to determine amount





ii. Hearing evidence of wealth earlier might make jury more likely to find liability 


5. CA requirements for punitive damages: P must prove by clear and convincing evidence



that D is guilty of oppression, fraud, or malice 




a. Malice:





i. Conduct intended by D to cause injury to P, OR





ii. Despicable conduct carried on by D with a willful and conscious disregard of 




the rights and safety of others 




b. Oppression: Despicable conduct that subjects person to cruel and unjust conduct in 



conscious disregard of the person’s rights




c. Fraud: intentional misrepresentation, deceit, or concealment of a material fact known 



to D with intention of depriving person of property or legal rights or causing injury



6. CA allows bifurcated trial if D requests it


7. For determining punitive damages, most courts allow P to suggest a formula


8. Must give jury instruction about requirements for punitive damages and then court reviews 


amount: does not give usual deference to award, but won’t overturn unless extremely large


9. Nominal and punitive damages




a. Courts will award punitive damages when there are nominal damages even 




though a proportionality problem can arise




b. Ex. If sue for trespass, might get punitive and nominal damages

B. Products Liability Actions



1. Look to underlying conduct for determination of punitive damages: Wangen



a. 1967 Ford Mustang had tendency to catch fire in crashes




b. D was aware of this, but decided not to remedy the defect 




c. D argued that punitive damages should not be awarded in cases of negligence or strict 



liability torts: wanted to limit to only intentional torts



d. Court said should not decide by categorization of tort




e. Should look at underlying conduct of D and see if meets standard for punitive damages 




f. Thus, even where strict product liability, D can still engage in outrageous conduct that 



requires punitive damages 




g. Negligence that occurs on multiple occasions could be a situation where punitive 



damages are proper



h. Negligently shooting a gun near a school would be another example that would satisfy 



the CA standard: would approach reckless disregard and be despicable



i. D also made policy arguments against awarding punitive damages:





i. Multiple plaintiffs will receive punitive damages





ii. Potential for damages to be passed on to shareholders and consumers: 





counterargument is that competition will put practical limit on cost increases and 




will force company to make safer goods





iii. Gives windfall to P






a. Will overcompensate P since already receiving compensatory damages 





b. Counterargument: might motivate P to sue when wouldn’t otherwise 





and offsets contingency fee paid to attorney






c. Some jurisdictions enact statutes that take certain percentage of punitive 




damage award and put in state general treasury





iv. Compensatory damages are adequate to deter






a. P already received millions of dollars to compensate injuries 






b. Counterargument: companies take compensatory damages into account 





when deciding whether to fix defect so punitive damages are needed to 





change the cost-benefit calculation


2. Punitive damages may be awarded in multiple lawsuits: Grace



a. Facts




i. P sued after getting sick from asbestos





ii. Trial court struck request for punitive damages since D had already paid them 




in other lawsuits: only allowed first P to receive them





iii. Called “first comer” or “first bite at the apple” rule



b. D claims it may go bankrupt if multiple plaintiffs receive punitive damages: later 



plaintiffs will then be unable to receive even compensatory damages



c. Court said that if it’s the only state to follow the rule, will be unfair to Ps in the state  




i. Would not adopt the rule unless every state adopts the rule





ii. Need federal gov’t to enact legislation for uniform rule



d. Would also create “race to the courthouse”





i. Favors P with first claim and later Ps suffer




ii. But, first P often does most of the work establishing the evidence against the D



e. Court decides to bifurcate the trial and allow testimony in second stage that D has 



already been punished sufficiently in previous cases 


C. Contract Claims



1. Can NOT get punitive damages for breach of contract: Strum



a. Facts




i. P leased gas station from D





ii. D decided not to renew the contract and entered into agreement to remove the 




underground tanks in three days





iii. Took longer than expected and P sued for various torts



b. General rule: can NOT get punitive damages for breach of contract




i. Allowing punitive damages would interfere with “efficient breach”





ii. If more efficient to breach the contract, then should be allowed to do it 





iii. Imposing punitive damages would disrupt the calculation




iv. Also, tort claims have elements of distress and anguish whereas contracts are 




simply business



c. Exceptions to rule:





i. Breach of contract is independent tort






a. If underlying conduct independently fulfills the elements of a tort in 





addition to breach of contract






b. Ex. SoL is shorter for many torts than for breach of contract so often 





may only be able to sue for breach of contract, but could have sued for tort 




if SoL hadn’t run





ii. Insurance bad faith: typically involves breach of contract where insurance 




company turns down claims that are covered by the policy




iii. Public service company that does not discharge duties to general public






a. Ex. Railroads, bus company, etc.






b. In one case, train refused to stop at station and made passenger jump off 




while it was moving: was breach of contract, but gave punitive damages 




iv. Breach of covenant of good faith and fair dealing






a. Ex. Employee is fired immediately before pension benefits are to vest






b. Is no longer an exception in CA




d. Court found that P was trying to turn breach of contract case into a tort case so was not 


entitled to punitive damages: P could not prove the elements of any of the torts 




e. If P could have shown that D did not intend to fulfill the contract within the three days, 


would be “promissory fraud”: is a tort claim

D. Constitutional Limits on Punitive Damages



1.  Two possible constitutional limitations




a. 8th Amendment





i. Supreme Court held that a fine is payment to gov’t





ii. Punitive damages go to P and not gov’t





iii. Thus, prohibition on excessive fine will not limit punitive damages 





unless P is the gov’t




b. Due Process clause: various cases have imposed restrictions


2. Must allow for judicial review of punitive damages and give jury instructions: Honda



a. Fact




i. P was injured on ATV





ii. Jury found that design was defective and awarded $1 million in compensatory 




and $5 million in punitive



b. D claimed that Oregon’s procedures violated Due Process



c. Protections given by Oregon statute




i. Used clear and convincing standard






a. Requires higher burden of proof






b. Offers some protection 





ii. Limit award to amount requested in complaint: does not offer protection since 




can ask for any amount





iii. Give jury instructions: juries do not always understand instructions or follow 



d. Supreme Court found that Oregon’s safeguards were not sufficient under Due Process: 



need to allow for judicial review of amount



e. Oregon prohibited judicial review of amount awarded by jury unless the court could 



find there was no evidence to support the verdict: could only review the burden of proof, 



the amount requested in complaint, and the jury instructions  




f. Procedural Due Process requires that courts review the amount closely and make sure 



the evidence supports the specific amount



g. Also, must have jury instructions that explain the function of punitive damages and 



what the standard is in the state



h. Not clear what burden of proof is constitutionally required
 


i. Court does not hold whether judicial review of amount must occur at the trial court or 



appellate court level


3. Must not be grossly excessive or punish for legal acts taken in other states: BMW v. Gore 



a. Facts




i. P purchased new car and found out had been repainted by D before sale





ii. D had policy of not disclosing repairs when cost was less than 3 percent of the 




retail price




iii. Jury awarded $4k in compensatory and $4 million in punitive: was reduced by 




appellate court to $2 million



b. Supreme Court held that state cannot punish D for legal actions taken in other states 




i. Would be punishing for actions that were legal





ii. Is not clear whether can consider illegal actions taken in other states or profits 




from other states



c. Jury had awarded the amount based on the nationwide number of times D had done 



this: punished D for the actions taken in other jurisdictions 




d. Can consider number of times D had taken action in the state where awarding damages



e. When determining amount to award, can also consider nationwide profits of the 



company in order to punish



f. To comply with substantive due process, Supreme Court also held that punitive 




damages can not be grossly excessive 



g. Three guideposts for determining grossly excessive




i. Reprehensibility 





ii. Ratio to harm





iii. Civil and criminal penalties that could be imposed




h. Court found there was a lower degree of reprehensibility: there was no physical injury, 



but only slight economic harm



i. Ratio to the actual harm was very high





i. Punitive damages were 500 times greater than the compensatory damages





ii. In State Farm v. Campbell, Supreme Court held that the ratio should usually be 



in the single digits





iii. Exception would be when nominal damages are awarded  




j. Civil penalties that could be awarded by the state would be $2,000: is much lower than 



the $4 million awarded



k. Court held that the award was grossly excessive


4. Standard of deference on appeal is de novo: Exxon Valdez 



a. Facts




i. P sued D for damages to commercial fishing because of oil spill





ii. Jury awarded $287 million in compensatory and $5 billion in punitive



b. Under Leatherman, Supreme Court found that amount of deference on appeal for 



punitive damages is de novo





i. Appellate court makes independent review





ii. Does not defer to trial court’s finding of constitutionality 




c. 9th Circuit found that the actions by D were reprehensible, but there was no violence or 



intentional action and D had taken responsibility in cleaning up



d. Ratio was 17:1: is not that high, but still above single digits



e. Civil and criminal penalties allowed for maximum of around $100 million



f. Because was grossly excessive, 9th Circuit remanded 

XIV. Unjust Enrichment


A. Introduction



1. May get restitution if quasi-contract: Pyeatte



a. Facts




i. Married couple had informal agreement to support each other during school





ii. P supported D during law school and then they divorced





iii. P claimed there was an express contract and wanted expectation damages: 




expenses for P to go to school



b. Court found that the contract was not definite so couldn’t get expectation damages



c. Did find there was a quasi-contract: was contract implied in law



d. Requirements for quasi-contract




i. Benefit conferred





ii. D was unjustly enriched





iii. In good conscience, D should pay compensation




e. Benefit conferred was the tuition that P paid for D



f. D had been unjustly enriched because he was supposed to pay for P to go to school




g. If had been married for years, P would have reaped rewards from D’s education and 



there would not be unjust enrichment
 


h. Even though there was no express contract, P had relied on the understanding between 



them: because of the reliance, good conscience requires that D should pay   





i. If P had paid for the education out of kindness and didn’t expect anything in 




return, then D would not have to pay compensation





ii. To get compensation, cannot be gratuitous but must expect repayment



i. If was breach of contract, focus would be on P’s loss




j. But, because was restitution claim, damages were D’s gain


2. Can only get restitution of past benefits: Monarch



a. Facts




i. D leased building to P





ii. D then leased space on roof to third party for a sign





iii. P wanted restitution of sign rent



b. Trial court awarded ½ of all past and future rent from the sign to P: appears that court 



gave a compromised verdict



c. Proper damages for restitution are the amount of the benefit conferred: would be total 



rent D received minus expenses



d. Court found that P could not receive future payments from the sign




e. Can only get restitution for past benefits received because D had not yet received the 



future sign payments




f. Would need to bring another lawsuit in future to recover the future rent

B. Benefits Acquired by Agreement or Mistake



1. If other party breaches, can get automatically get restitution: Alder 



a. Facts




i. P obtained patent for polyscope: it produces 3D movies





ii. D agreed to finance the venture and market it





iii. Gave $5k to P in exchange for the polyscope and the patent letter





iv. D discovered there were other competing devices and rescinded the contract  




v. But, can only rescind contract if other party breaches or repudiates the contract



b. Remedies for breach of contract





i. Rescind contract and get restitution





ii. Waive breach and continue to perform contract





iii. Sue for breach and get expectation damages




c. Court found that D was not entitled to rescind: D’s rescission was a breach/repudiation 



of the contract



d. P’s ideal remedy would be expectation damages





i. Profits from successful marketing of the device





ii. But, this was too speculative to get



e. Because other party breached express contract, P did NOT have to prove the three 



requirements for quasi-contract: can automatically rescind the contract and get restitution



f. P had to give the $5k back to D and D has to give the polyscope and the patent letter 



back to P: need to get back to original situation so each party gives benefits back  


2. If contingency fee agreement, recover under quantum meruit: Kelner 



a. Facts




i. D was jeweler who was robbed





ii. Insurance company refused to pay under the policy





iii. D hired P under contingency fee contract. 




iv. P negotiated settlement with insurance company, but D then fired P 





v. P sued D for breach of contract



b. Trial court awarded P damages under theory of quantum meruit: is measure of 




restitution for value of goods and services





i. Can only get quantum meruit if client is ultimately successful in their lawsuit 




ii. Determine value of services through hours worked at an hourly rate plus any 




expenses incurred on behalf of client 




c. Did not award P expectation damages





i. Would have chilling effect





ii. Clients would be deterred from firing lawyers if have to pay full contingency 




fee to every lawyer they hire and then fire



d. But, appellate court ultimately awarded P the full amount of the contingency fees 



because he had already successfully settled the case: was not expectation damages, but 



restitution for his services

C. Waiver of Tort and Suit in Assumpsit 


1. For certain situations, can sue using common count: Taylor Fire Prevention 



a. Facts




i. P supplied D with fire extinguishers





ii. When contract ended, P wanted the canisters returned but D could not find 




many of them



b. P could sue for conversion: would get FMV damages  




c. Instead, sued under assumpsit: you waive the tort and sue in assumpsit 





i. Is similar to quasi-contract





ii. Are causes of action applied to specific circumstances called common counts



d. When D receives profit at the expense of P, is called “money had and received”





i. Is basically another form of restitution





ii. Simply need to prove that D owes money




e. “Goods and services rendered” is another common count



f. Advantages of common counts 





i. Do not need to prove the three elements of unjust enrichment as with quasi-




contract: easy to prove cause of action when certain facts are present  





ii. Have longer SoL than some torts




iii. Can recover increase in value if the goods are sold to someone else



g. Court treated the fire extinguishers as if there had been a fictitious sale and awarded P 



the costs for them

D. Constructive Trust



1. May get constructive trust if abuse confidential relationship: County of Cook



a. Facts




i. D was county clerk who made recommendations based on bribes





ii. P wanted to receive the bribe money



b. P can’t recover the money under breach of contract because P had no expectation of 



receiving bribes under the contract



c. Might sue for tort of conversion, but D had not taken any money from the county



d. Only option is to sue for restitution on grounds of unjust enrichment



e. One way to show entitlement to constructive trust: confidential relationship with abuse 



of the relationship




f. Court found that D had a fiduciary duty to the county: a confidential relationship 



existed between the parties




g. Because D had abused the confidential relationship by taking bribes, P was entitled to 



a constructive trust


2. Constructive trust is imposed by operation of law to prevent person from holding for his own 


benefit that gained by reason of special trust or confidence placed in him by an innocent party


3. D is fictionally treated as a trustee and has obligation to give money to P


4. Does not matter if P has lost anything: looking at D’s gain


5. Trust is imposed on the property itself: equitable tracing allows the following of the assets into 

other property




a. Ex. If D uses bribe money to buy cabin, then get constructive trust on the cabin  




b. Tracing stops with bona fide purchasers: cannot impose trust on property of innocent 



party, but can trace money from the bona fide purchase and place trust on it 



6. Constructive trust is good remedy when property has increased in value since get property

E. Equitable Liens



1. Will want equitable lien if asset depreciates in value: Middlebrooks



a. Facts




i. P loaned money to her parents to build a house and they promised to repay her, 




but never did





ii. P claimed they had no present intent to repay her when they made the promise: 




was promissory fraud



b. Where fraud exists, constructive trust or equitable lien is a remedy



c. In other circumstances where no fraud, constructive trust or equitable lien will be the 



cause of action



d. When entitled to constructive trust, are usually entitled to option of equitable lien




i. If parents had taken the loan and purchased the house with the money, would be 



able to get a constructive trust on the house 





ii. But, if had used the loan and additional money to purchase the house, then 




would not be fair to impose constructive trust since some was parent’s money  





a. Would need to get equitable lien on the house






b. Entitled to the amount of the loan secured by lien on the house




iii. If had used the loan to purchase the house and no additional money, would 




want constructive trust if house appreciates in value: if house depreciates in value, 



would want equitable lien on the house



e. When court orders judicial foreclosure and do not receive full amount from the sale, 



will get deficiency judgment for remainder of amount and can put lien on other assets 



2. May get equitable lien if owner was aware of improvements made: Robinson



a. Facts




i. P lived in a house owned by her husband’s parents and performed 





improvements on it  




ii. When got divorced, P wanted to recover for the work she put into the house  




iii. Claimed that parents in law were unjustly enriched



b. Usually if make improvements to someone else’s property, do not receive 




compensation 




c. But, if owner was aware of the improvements or encouraged the work, then may be 



entitled to compensation



d. Court found that P’s parents in law were aware of the improvements




e. Because her improvements to the house were not severable, cannot impose 




constructive trust  



f. Gave equitable lien on the amount of money she contributed  to the house
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